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BT T B 5t #teF) BRI EE
(ETTER LA ARNEE (1))
mTHE EHARER (o)

I TTEE L RE am | s | A% | en mae| 28 [ BE lawm| wm | ow
ZEB—TH 8.22| 0.04] 000| 000{ 0.07[ 0.19( 052 O0.14] 373 221 134
ZEB-TH 7.32| 0.01| 0.40| 0.04] 0.07| 083 051 002 249 244 051
ZEB=TH 6.17| 0.00] 0.04| 005 005 047 082 0.04] 244 197 030
XEBIOTHE 3.32| 0.00] 000| 000[ 0.03f 0.18/ 0.30| 0.00| 158 096 0.26

1EER AEBRTH 878 0.21] 1.41| 002 019 044 0.96| 000| 268 242| 045
WE—TH 10.44( 028 001 0.00| 0.01| 0.59| 056] 010 3.06| 279 3.04

HE=TH 836/ 0.22] 0.12| 0.00| 0.04f 0.32f 146| 006| 222| 203] 1.89

Bal—TH 9.29| 0.34] 1.84| 1.28] 0.16[ 0.26| 045 0.00| 1.21| 1.40| 235

INEE 6190 1.10/ 3.83] 1.39| 061| 327 558 0.35 19.42| 16.22| 10.14

AE—TH 10.23| 0.00f 0.06| 043| 0.00f 0.43| 080| 0.00] 447 334/ 069

AR-ITH 9.12| 0.02] 000| 0.00| 0.03f 0.62f 093] 000| 318 374 0.59

28R BR=TH 8.94| 0.00] 0.03| 003] 0.04f 1.34f 1.20| 0.04| 254 315 058
AEOTH 9.72| 0.64] 089| 0.01| 0.02[ 044 0.74] 0.00| 349| 3.02| 049

INEE 38.01|] 0.65| 0.98] 047 009 282 367 004 1368 13.26] 235

BEIZ=TH 13.63| 0.72| 0.08] 0.12| 0.05 0.28/ 0.85| 0.04| 1.79] 3.59| 6.12

HEI=TH 519 0.05| 0.00| 0.00| 0.18 0.25| 0.64| 0.02] 1.63] 222| 0.21

BETETE 9.71| 045] 0.38| 005 044 075 1.29| 0.00| 243] 337 055

=%—TH 5.83| 0.04] 000| 0.00{ 0.00f 055 122 000 193] 1.68] 040

3R =H=TH 553| 0.01| 0.00] 0.19] 0.00| 059 080 000f 1.79( 1.73] 042
BH—TH 519/ 0.00] 0.00| 0.01| 0.00f 098/ 056 000 137 204| 024

SH=-TH 519 0.08] 000| 0.00[ 048 0.36( 056/ 000 138 200| 0.34

N&—TH 422( 0.00( 0.00 o0.00| o001 077 0.78{ 0.00[ 1.08 1.36| 021

NEZTH 6.07| 0.28] 0.23] 0.00] 0.01| 0.78| 059 006 1.72| 192| 047

INEE 60.56| 1.62| 0.69| 0.38] 1.18] 5.29| 7.29| 0.12| 15.12| 19.90| 8.97

F—-TH 6.41| 0.17) 000| 0.04| 057( 041 0.84| 0.00| 1.44] 218 0.76

%_TH 437( 0.09| 0.00] 0.00| 088 031 043 0.04f 1.20| 1.24] 018

#=TH 6.49| 0.03| 0.00/ 0.00] 0.02| 060 1.35| 003 161 237 047

FWMTH 3.63| 0.00] 0.00| 0.00| 0.05f 048 030 003} 1.10] 1.36] 030
TERE—TH 7.7 0.06] 1.03] 002| 0.09( 052 1.06| 0.00| 1.76| 227 0.35

4.3% THEZTH 425 013/ 0.00] 0.00| 055 037 052f 0.03f 120 121 023
TEEZ=TH 731 0.19] 0.31] 0.00| 062 052 1.02| 001 169 235 059
TTEEMNTH 516/ 0.09] 000| 0.00| 0.74f 0.1 0.72| 0.00| 145 1.27] 0.29

B—TH 454( 0.00f 0.00 0.12| 001] 020[ 0.78{ 0.09| 1.63| 148 023

Bz —TH 7.35| 0.50] 0.00{ 0.00{ 0.00f 0.18/ 0.8 0.08] 1.05/ 1.99| 298

NG 56.68| 1.27| 1.34] 0.18| 3.63| 4.20| 7.61( 031 1414 17.72| 6.38

BEXE—TH 7.20| 0.46| 0.07) 031 236| 027 046 002{ 079 211| 034
BEEXE_TH 7.67| 0.06] 000| 005 003 069 128 026 248 230 054
BXE=TH 12.30| 0.65| 053] 0.01| 086 1.05 205 069 256| 3.08/ 0.82

5 Ee WAR—TH 6.60| 0.50| 041| 000| 064 041 055 002 147, 210] 050
WMABRZTH 8.11| 0.14] 0.04] 0.00] 0.83] 1.20f 098 000f 201 234 058
WMAR=TH 8.26| 0.51] 0.00| 000| 058 121 119 0.00| 192| 230] 0.55
MARETH 5.64| 0.10] 0.00| 0.00{ 0.02f 0.74| 146/ 0.00] 1.09| 1.82| 0.41

INEE 5577\ 242 1.05| 0.37| 532 556 797 0.99| 12.32| 16.04| 3.72

ZE—TH 11.98| 000f 000 0.26| 0.04| 0.33] 042 038 519 469 067

EE_TH 20.32| 0.69 0.02| 0.08| 658 051 1.20[ 095 375 4.79| 1.75

&fM—TH 579/ 0.05| 038 0.10| 0.00{ 0.47( 069 0.10| 135 230] 0.35

6. XER EFM=TH 847 0.26] 0.00| 0.03] 001 041f 061 021 208 312| 174
TENF—TH 11.14( 158/ 036 001| 0.00[ 0.19] 063] 0.03] 1.0/ 3.06| 3.78
FEINF=TH 749 146] 000| 003] 035/ 047 062 002 1.14] 1.89| 1.51

INEE 65.19] 4.04| 0.76/ 051] 699 2.39] 4.17[ 1.70| 15.02] 19.83] 9.80
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(BTTEALMAAMNER (2)]

mTE THFIAER (ha)
I TTEE L EE D am | ww | A% | sn mae| 28 | BB lwwm| um |con
EE=TH 9.70f 0.00f 0.00] 0.00| 001| 1.18] 1.24f 0.01| 3.03] 379| 044
EEWTE 11.11] 042 088 0.22( 0.01f 1.77) 0.80| 000[ 278 3.56| 0.68
1REL ZERTH 15.74| 0.04| 0.00| 0.00[{ 0.07 3.48| 153 001| 417, 4.86| 156
EZEANTH 1293 020 0.00 0.01] 0.10| 1.45] 157 0.04| 4.12| 455 090
NEE 49.49| 066 0.88| 0.23] 0.19] 7.89| 5.14| 0.07[ 1410( 16.76| 3.59
SF—TH 17.89| 5.33| 059 007[ 064 1.07| 0.71| 0.00] 1.62| 3.27| 459
SF-TH 16.36| 0.79| 0.42| 0.04| 0.94| 1.72| 1.38] 000| 344| 395 368
85F ZELTHE 9.65| 278| 000 0.00f 053] 033 033 000 0.79] 251 238
BEXE—TH 5.68| 0.24] 003| 001 0.13| 0.81| 0.77] 0.00| 1.41] 1.79] 0.50
NEE 49.58| 9.15| 1.03| 0.12| 2.23] 393] 320] 0.00[ 7.26f 11.62| 11.15
FHI—TE 11.77) 0.46| 0.61| 0.04| 046/ 2.01| 055 009 297, 353] 1.05
FINZTHE 13.37| 0.45| 0.01| 0.03| 026 159 120 123 271| 354 235
HAR—TH 8.62| 0.01| 0.00/ 0.03] 0.00] 1.89| 063 063 210[ 279| 054
9.55 1 AAR=TH 10.47| 0.03] 0.00| 0.00{ 0.02f 256| 1.16| 033 192| 332 1.13
Bi5—TH 16.70| 0.51] 0.00| 037 0.34| 254| 1.66] 000| 223| 348 457
B5_-TH 11.34| 050{ 0.00| 0.01f 0.28/ 1.63| 145/ 000[ 1.83] 252 312
REXE-TH 851 0.31] 043] 007/ 0.26] 1.86| 050/ 0.01| 179 261| 0.67
INEE 79.79| 2.27| 1.05| 056| 1.62| 1407 7.14| 2.30| 15.55| 21.80| 13.43
TFER=TE 12.38| 0.22| 0.00| 0.00[ 0.46( 228 223 007 197, 375 1.40
FERMTE 12.42| 0.16| 0.00| 0.05 0.00f 1.98] 1.72| 0.39| 157 3.34| 320
105 =/#%—TH 8.76| 0.44| 038 000f 0.14] 1.42| 1.10f 0.00| 145 298| 0.85
=/®%_TH 442 0.04f 0.00] 003] 006| 062 045 0.00f 066| 218 0.39
BR=TH 11.31] 0.03] 0.00| 0.01| 0.07 2.72| 1.44] 001| 235 3.88] 0.79
INET 49.29| 0.88| 0.38| 0.09] 0.73] 9.03| 694| 047 8.01| 16.13| 6.64
BR—TH 8.62| 0.21] 0.00| 000f 0.63] 115 1.28/ 0.00{ 178 299| 0.57
BRZTH 7.58| 0.10| 0.44| 0.02] 023 057 1.31| 000f 105 312| 074
FER-TH 5.85| 0.02] 0.80| 0.00[ 0.01f 0.54f 1.04] 0.04] 090| 226| 024
11ER FERZ-TE 6.29| 0.00f 0.00] 0.00| 000| 093 *1.11f 0.00f 141 237 048
ABX—TH 9.48( 0.05 0.00] 003| O011] 1.25[ 1.86| 0.05 1.77| 383] 053
ABRZTH 8.35| 0.07| 0.40| 0.01] 0.04] 1.54| 1.02| 002 1.78] 273] 0.75
INEE 46.19| 045 1.64| 0.06| 1.02| 598| 7.63] 012 869 17.29| 3.31
RE—-TH 7.85| 0.09] 028 001 0.10f 0.14f 0.70] 1.28| 0091| 0.85] 3.48
REZTH 9.29| 0.03| 0.04] 0.16| 000| 1.24] 175 051 083] 206| 268
RE=TH 1477\ 027 049 004 201 297 251 0.12| 175 354 1.06
12488 REMTH 8.93| 0.14] 041| 002 047 341 166| 002 087 137 0.56
REATH 9.91| 0.00f 0.00] 0.00| 023] 245 233 0.00f 149| 203 1.37
TAZTH 8.67| 0.28/ 001| 0.02[ 064 148 160 000 127 287 0.1
T/=TH 7.42| 0.18] 0.78] 0.14| 0.19] 064] 1.18/ 0.02| 098 258 0.73
NEE 66.84| 099 201 040 366| 12.33| 11.72| 195/ 810 15.31| 10.38
AHRETHE 21.64| 13.48 0.00 0.17| 1.01| 1.87[ 1.04| 0.04 0.65| 208 1.30
138 EH#HA—TH 16.10| 5.88| 1.41| 0.02( 1.90f 205 1.17| 000| 043] 1.88] 0.35
LHHAZTH 7.74| 0.69| 0.07| 0.20|] 0.57| 2.32| 065/ 000f 055/ 168 1.00
NEE 44.48| 20.04| 1.48| 039 348 6.25| 286| 0.04| 1.63| 564 265
AH—TH 7.68| 1.95| 0.00| 005 232 1.40f 044] 000| 044| 065 0.33
BHFZTH 8.11| 0.00|] 0.44| 0.14| 0.00f 345/ 152 003| 064 132 057
BH=THE 11.09| 0.19| 0.06| 0.00[ 0.75( 3.95| 217| 005/ 1.60{ 1.73] 058
AHRETH 6.49| 1.95| 000 0.14] 220/ 100f 041 000 0.19] 049| 012
48thEE  (AHRAETH 9.26| 2.04| 0.08] 0.16] 295 1.80| 0.65/ 0.00f 032 092| 034
ARARTH 3.99| 1.23] 000| 002 1.10{ 0.8 0.11] 0.00| 040{ 052 0.03
MmZm=TH 2.84| 0.34] 000| 002 0.00f 0.80f 0.64] 0.20| 045 0.30] 0.08
M imm T B 6.39] 0.00] 0.32| 0.00] 0.02f 228 140 006 064 1.33] 034
NEE 55.76| 7.70| 0.90] 0.54| 9.34| 156.26] 7.34| 0.35| 4.68] 7.27| 2.38
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BTH T iR A EE (ha)
e MRS éﬁf) A | 25 | D% en (maz| 58 | BB lwam| am |zow
+tH—TH 5.03] 0.02| 0.53] 0.00[ 0.00f 024 022 0.1 2.16 1.52| 0.22
B —-TH 3.95| 0.04] 0.00f 0.03[ 0.00f 0.02] 0.11 0.38 148 093 0.96
tH=TH 7.38] 0.17] 0.02| 0.03| 000f 0.13| 035 0.13] 3.38] 241 0.77
1515 +THIETH 456( 0.00{ 000/ 0.00| 008/ 0.03f 0.00[{ 000/ 188 222 0.36
THARTH 8.61 0.00f 0.02] 0.00| 0.01 0.03] 0.24| 0.09| 3.22| 247 255
FHARTH 6.23| 0.00/ 0.00] 0.00f 0.00f 0.02[ 007, 034 215 1.59| 2.06
ER 1.89] 0.12 0.00( 0.00f 0.00/ 0.00/ 0.04f 0.05 063| 045 0.60
INET 37.65| 0.35| 057 0.06] 009 046| 1.02( 1.10[ 14.89| 11.59| 7.53
"LEH—TH 8.69/ 0.00f 0.00/ 0.00| 0.02| 026/ 050f 0.00f 398 3.18] 0.75
16,55 L5 HIEH_-TH 8.49| 0.17| 0.00/ 0.00f 0.02f 027 023 060| 334, 292 0094
HIEH=TH 9.16] 0.02| 0.00] 0.04f 0.32f 0.91 0.45| 0.23| 3.75 274 0.68
INET 26.34| 0.20] 0.00f 0.04f 0.35 1.45 1.19| 083 11.07| 8.84| 238
FEE—TH 4.81 0.05( 0.02] 0.01 0.02 0.17 0.70| 0.02| 097 276 0.10
JdEH_-TH 9.61 0.61 0.23] 0.25| 0.09| 0.75 1.52| 000 224 3.13| 0.80
HEEMTH 9.70] 0.03] 0.59| 0.59 0.12 040 059| 0.01 1.91 419 1.26
174 L5 HEHATH 7.06| 0.07] 0.00] 0.17| 065 059 084 0.12 185 237 041
HEEHARTH 9.99| 0.41 0.47( 0.01 1.23| 1.14] 080 007, 200f 3.36| 0.50
tHETH 20.90| 0.00/ 0.54| 0.00f 0.00f 007 063] 0.28 1.67| 448 13.24
TA—TH 6.43| 0.13] 0.49] 0.33| 063 074 1.01 0.00 1.02 1.75] 0.33
INET 68.50 1.28| 234 1.37| 272 386 6.10/ 0.50| 11.65| 22.03| 16.64
tim—THE 5.87 1.42] 0.00| 088 025 008] 0.84| 0.04] 0099 065 072
18stheim  |[Hzim=TH 7.82| 0.49( 0.47| 0.00| 0090 0091 1.94| 0.00f 0.99 1.61 0.51
INET 13.69 1.91 0.47| 0.88 1.15 099 2.78] 0.04 198 2.26 1.23
- FHAE 82.29| 26.66| 8.47| 19.47| 452 003 017 0.00] 2.05| 8.27| 12.64
19. EHAE =
INET 82.29| 26.66| 8.47| 19.47( 452 003| 017 0.00| 205 8.27| 12.64
BEXAG 1,008.00| 83.65| 29.87| 27.51| 48.82(105.05| 99.51| 11.26]199.34|267.70/135.30
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A ~ i
. S ETET%E B At 100~300n | 500t 1000nt 3000nf 5000mf | 10000nd Bk
Sy _ _ ° _

(ha) BRT | miE miER T @E |HET| o || @ (BT B (B @% (& o |8 oE

¥l (m) [ (%) | # | (nf) | % | (nd) | % | (nf) | % | (nf) | % | (nf) | % | (nf) | % | (nf)
EEE—-TH 822| 3| 546| 066] 3| 546 © of o of o of o of o of o 0
REE-TH 732 3 21| 003 2 16| o of 1 6| 0 ol o of o of o 0
BEE=TH 617| 0 ol o000l o0 of o of o of o ol o of o of o 0
BEENTH 332 0 ol 000 o0 of o of o of o of o of o of o 0
LEEE  |2EEAETHE 878| 7| 2857 325 4| 729 o0 ol 3| 2127 o of o of o of o 0
mE—THE 1044 0 ol o000 o0 of o of o of o ol o of o of o 0
mE=THE 836| 3| 1,195 1.43] 2| 265 © of 1| 93| o ol o of o of o 0
Eai—TH 929 11| 2996| 3.22| 8| 1552| 2| 829 1| 615 o0 of o of o of o 0
INEF 61.90| 27| 7615/ 1.23| 19| 37108 2| 829 6| 3678 O of o of o of o 0
BE—TH 1023 1 158 015 1 158] 0 of o of o of o of o of o 0
BE-TE 9.12| 1 210| 023 1| 210 o of o of o ol o of o of o 0
28H BE=TH 894 0 o| 000 o0 of o of o of o ol o of o of o 0
AEMUTH 972 9| 3789 390 8 9771 © ol 2| 1.226] 1] 1,586 o0 of o of o 0
INE 3801 11| 4157| 109 8| 1344 o0 ol 2| 1.226] 1] 1,58 o0 of o of o 0
EA=THE 1363 9| 2020 148 5| 455 3| 1,009 1| 556 O of o of o of o 0
EH=TH 519 3| 273] 053] 3| 273 o0 of o of o of o of o of o 0
HAmTE 971 7| 1597 164 5 813 2| 784 o0 of o ol o of o of o 0
=%—TH 583 0 ol o000 o0 of o of o of o ol o of o of o 0
—_— =B=-TE 553 0 o| 000 o0 of o of o of o of o of o of o 0

. Bl

B—TH 519 0 ol 000l o0 of o of o of o of o of o of o 0
E#M=-TH 519 3| 1,133 218 1 180 1| 383 1| 571 o0 ol o of o of o 0
Ne—TH 4221 0 ol 000 o0 of o of o of o of o of o of o 0
Ne=TE 607| 2| 478] 079 1 1211 1| 857 o0 of o of o of o of o 0
INEF 60.56| 24| 5501| 0091| 15| 1843] 7| 2532 2| 1,127 © of o of o of o 0
F—TH 641 7| 1475 230 6 1037 1| 439 o0 of o of o of o of o 0
E-TH 437| 5| 1300 297 3| e44] 2| 655 O of o ol o of o of o 0
£=TH 649 1 223| 034| 1| 223 o of o of o ol o of o of o 0
#FmTH 363 0 ol o000 o of o of o of o ol o of o of o 0
TERE—TH 717 1 1200 017 1 120 0 of o of o ol o of o of o 0
e FTRE-TH 425 4| 581 137 4 581 0 of o of o ol o of o of o 0
FTRE=TH 731 5| 1040 1.42| 4| 726] 1| 314 © of o of o of o of o 0
TERENTH 516/ 5| 1,050 203] 5 1050 o0 of o of o ol o of o of o 0
B —TH 454 0 ol o000 o0 of o of o of o ol o of o of o 0
BH=TH 7.35| 1 155 021 1 155 0 of o of o ol o of o of o 0
INEF 56.68| 29| 5944| 1.05| 25| 4536 4| 1408 0 of o of o of o of o 0
FmEE—TH 720 5| 927 129 5 927 o© of o of o of o of o of o 0
FEEE—TH 767| 4| 723] o094 4] 723 o0 of o of o of o of o of o 0
FmEE=TH 12.30| 16| 6,156 500 10| 1,704| 4| 1673] 1| 648 1| 2130 © of o of o 0
—_—— WHABR—TH 660 6 2595 3.93] 4| 568 1| 338 © ol 1| 168 o0 of o of o 0
. MABR=TH 811| 7| 1,860 220] 5 743 o0 ol 1 50 1| 1,086] 0 of o of o 0
WABZTH 825 9| 2744| 333 6| 1359 2| 785 1| 600 O of o of o of o 0
WASmT B 564/ 1 104] 019 1 104 © of o of o ol o of o of o 0
INEF 5577| 48| 15109| 2.71| 35| 6129 7| 2797| 3| 1,209 3| 4885 o0 of o of o 0
BE—TH 11.98) 0 ol o000 o0 of o of o of o of o of o of o 0
BE-TH 20.32| 37| 26.214| 12.90| 23| 4047 4| 1667 7| 4386 1| 1256 1| 3231] o0 ol 1| 11,627
ZM—TH 579 2| 889 153 1 132 0 of 1| 7571 o0 of o of o of o 0
6.%%m |EM=TH 847| 2| 226] 027 2| 226 o0 of o of o ol o of o of o 0
#ENFE—TH 11.14| 13| 6,498 583 8| 1290 1| 431] 2| 1,179] 2| 3598 © of o of o 0
EINE=THE 7.49| 11| 5794 774 7| 1.196] 1| 329] 1| 534| 2| 3735 © of o of o 0
INEF 65.19| 65| 39,620| 6.08| 41| 6,890 6| 2427 11| 6857 5| 8589 1| 3231] 0 ol 1| 11,627
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. HTT B akiakil LSt IeloTys ggg; 1500000~nf ;ggg:f gggg;f 150000000~nf mﬁgf_m
JTv | WIBE | ER Tem| mm |meE|mr] mm (@] @W w5 @R 6] @R 6] @ |65 58 (6] o8
B | () | o) | | () | s | () | | (D) | # | (nh) | g | (o) | # | (D) | # | (D)

EZE=TH 9.70 4 618 0.64 4 618 0 0 0 0 0 0 0 0 0 0 0 0

EZEMNTEH 11.11 7| 3139 282 4 786 1 378 1 630 1 1,345 0 0 0 0 0 0

128 ZERTH 15.74 4 735 047 4 735 0 0 0 0 0 0 0 0 0 0 0 0

EEATH 12.93 6| 2015/ 156 2 384 3 1,111 1 521 0 0 0 0 0 0 0 0

INEE 49.49| 21 6,507 1.31| 14| 2522 4| 1,488 2| 1,151 1| 1,345 0 0 0 0 0 0

SFE—TH 17.89 24| 14771 8.26| 15| 2,408 1 374 3| 2,155 4| 6,925 11 2910 0 0 0 0

SFEZTH 16.36 9| 3223 197 5 950 2 740 1 750 0 0 1 783 0 0 0 0

8457 ZE+tTH 9.65| 19| 13,913| 14.42 9| 1,453 1 353 5| 2,546 3| 6,375 1| 3,185 0 0 0 0

RAXE—TH 5.68 5 367 0.65 1 229 3 53 1 86 0 0 0 0 0 0 0 0

/NEE 4958| 57| 32,275 6.51| 30| 5,041 7| 1,620( 10| 5537 71 13,299 3| 6,877 0 0 0 0

FI—T8 11.77) 12| 2330 1.98| 10f 1,510 2 821 0 0 0 0 0 0 0 0 0 0

BIZTH 13.37| 10| 3,206 240 8| 1,560 1 467 0 0 11 1,180 0 0 0 0 0 0

AARE—TH 8.62 0 0] 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0

9351l BXR-TH 10.47 2 362 0.35 2 362 0 0 0 0 0 0 0 0 0 0 0

B5—TH 1570 11| 1,596 1.02| 11| 1,596 0 0 0 0 0 0 0 0 0 0 0

BE_-TH 11.34| 12| 2573 227| 10[ 1414 1 483 1 677 0 0 0 0 0 0 0 0

HEE_TH 8.61 4 955 1.12 3 538 1 417 0 0 0 0 0 0 0 0 0 0

INEE 79.79( 51| 11,023| 1.38| 44| 6,979 5( 2,187 1 677 11 1,180 0 0 0 0 0 0

FER=TH 12.38 5| 1,376 1.11 3 529 2 847 0 0 0 0 0 0 0 0 0 0

FEROTH 12.42 4] 1,487] 1.20 3 320 0 0 0 11 1,167 0 0 0 0 0 0

10.F% =/#®—TH 8.76 6| 1,398 1.60 5 763 0 1 635 0 0 0 0 0 0 0 0

=/®W_-TH 4.42 5 525| 1.19 5 525 0 0 0 0 0 0 0 0 0 0 0

ER=TH 11.31 2 298| 0.26 2 298 0 0 0 0 0 0 0 0 0 0 0

INEE 49.29| 22| 5,084| 1.03| 18| 2434 2 847 1 635 11 1,167 0 0 0 0 0 0

BR—TH 8.62 41 1,639] 1.90 2 293 0 0 2| 1,346 0 0 0 0 0 0 0 0

ERZTH 7.58 4 7311 0.96 4 731 0 0 0 0 0 0 0 0 0 0 0 0

FE-TH 5.85 3| 2165 370 0 0 1 300 1 832 11 1,032 0 0 0 0 0 0

MNER FERZTEH 6.29 1 51 0.08 1 51 0 0 0 0 0 0 0 0 0 0 0

AB—TH 9.48 2 262 0.28 2 262 0 0 0 0 0 0 0 0 0 0 0

ARZTH 8.35 2 329 0.39 2 329 0 0 0 0 0 0 0 0 0 0 0

INEE 46.19| 16 5,176| 1.12| 11| 1,666 1 300 3| 2,178 11 1,032 0 0 0 0 0 0

RE—TH 7.85 6| 3595 458 3 465 1 331 1 878 11 1,920 0 0 0 0 0 0

w®EZTH 9.29 8| 1,975 213 4 558 2 656 0 0 2 761 0 0 0 0 0 0

RE=TH 14.77| 14| 5847 396| 10[ 1,714 0 0 2| 1,266 2| 2,868 0 0 0 0 0 0

12488 REDTH 8.93 8| 2012 225 5 738 2 A 1 502 0 0 0 0 0 0 0 0

RERTH 9.91 5 628 0.63 4 616 0 0 1 12 0 0 0 0 0 0 0 0

TRZTH 8.67 5/ 1,890 218 3 612 1 327 1 951 0 0 0 0 0 0 0 0

TA=TH 7.42 6| 2,255 3.04 3 488 2 714 0 0 11 1,053 0 0 0 0 0 0

INEE 66.84( 52| 18202| 272 32| 5192 8| 2,799 6| 3,609 6| 6,602 0 0 0 0 0 0

AFETEH 21.64| 81| 42,350 19.57| 51| 9,019| 14| 4,957 7| 4177 4| 5,605 4113,549 1] 5,043 0 0

134 EB#A—TH 15.10| 44| 26,231| 17.38| 23| 3,413 6| 1,920 5| 1,807 6| 3,806 2| 6,402 11 8,230 1 652

EHRAZTH 7.74] 19| 5413| 6.99| 11{ 1,328 3 803 3| 1,092 1 737 1| 1,453 0 0 0 0

/NG 44 48| 144( 73,995 16.64| 8b( 13,760 23| 7,681| 15| 7,076 11|10,148 7| 21,404 213,273 1 652

BHF—TH 7.58| 25| 12,628 16.65| 17( 2,498 3| 1,085 1 566 3] 3918 1| 4,561 0 0 0 0

AFZTH 8.1 21| 5756 7.09| 17| 2,083 2 766 0 0 11 2,907 1 0 0 0 0 0

AP=TH 11.09| 10| 1,335 1.20| 10f 1,335 0 0 0 0 0 0 0 0 0 0 0 0

AFETE 6.49 15| 3,549 546 9] 1,004 2 485 3| 2,056 1 5 0 0 0 0 0 0

148%%E |AFRETH 9.26| 12| 6,721 7.26 8| 1,264 1 364 2| 1,553 0 0 1| 3,540 0 0 0 0

BHREATH 3.99| 10| 2889 7.25 7| 1,258 1 321 2| 1,310 0 0 0 0 0 0 0 0

MZm=TH 2.84| 11| 2009 7.07 7| 1,030 2 508 1 465 0 0 0 0 0 0 1 6

Mz immE T B 6.39 10 857 1.34 5 470 2 336 0 0 3 50 0 0 0 0 0 0

/i 5576 114| 35,744| 6.41| 80| 10,942 13| 3,864 9| 5,951 8| 6,880 3| 8,101 0 0 1 6
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mra | Wwes  Jioo~soort| S0 |Gy | 3000w | so00mt | to000nt | it
JTv | WTRE | WE Tew] mm @k |m] @R (E @R M| @R @5 @R @%@ (6] @6 65| 5%
% | () | o) | % | () & | () [ & | () | % | () @ | () || () || (m)
+tH—-TH 5.03 3 386 0.77 3 386 0 0 0 0 0 0 0 0 0 0 0 0
tH-TH 3.95 7 303 0.77 2 134 1 33 4 136 0 0 0 0 0 0 0 0
TB=TH 7.38 0 0| 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1515 LHMTH 4.56 1 9] 0.02 0 0 0 0 0 0 1 9 0 0 0 0 0 0
EHERTH 8.61 0 0| 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EHARTEH 6.23 0 0| 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0
MER 1.89 3 326 1.73 3 326 0 0 0 0 0 0 0 0 0 0 0 0
/NGt 37.65( 14| 1,023| 027 8 845 1 33 4 136 1 9 0 0 0 0 0 0
REH—-TH 8.69 0 0| 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1635 L5 HEH_-TH 8.49 4] 1,953] 230 2 314 0 0 1 548 11 1,091 0 0 0 0 0 0
HEH=TH 9.16 2| 1,054 1.15 1 118 0 0 1 935 0 0 0 0 0 0 0 0
N 26.34 6| 3,007 1.14 3 433 0 0 2| 1,483 11 1,091 0 0 0 0 0 0
It%H—TH 4.81 0 0| 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LB _-TH 9.61 3| 1,115( 1.16 1 117 1 360 1 638 0 0 0 0 0 0 0 0
REHMOTH 9.70 3 318/ 0.33 3 318 0 0 0 0 0 0 0 0 0 0 0 0
1740 L5 REBATH 7.06 5] 1,938 275 3 410 1 432 0 0 1| 1,096 0 0 0 0 0 0
RLEHATH 9.99 8| 2,094 210 5 794 2 761 1 540 0 0 0 0 0 0 0 0
rHETH 20.90( 27| 4,694| 225 19| 1,623 3| 1,433 4] 1,249 1 388 0 0 0 0 0 0
TAH—TH 6.43( 11| 1,641 255 11| 1,641 0 0 0 0 0 0 0 0 0 0 0 0
INET 68.50( 57| 11,800| 1.72| 42| 4,904 7| 2,986 6| 2,427 2| 1,484 0 0 0 0 0 0
Mz im—TE 5.87 7| 15,408( 26.26 5 930 0 0 1 524 0 0 0 0 0 0 11 13,954
18tz |tz =—TH 7.82| 16| 2948 3.77| 14| 2,267 2 681 0 0 0 0 0 0 0 0 0 0
/N 13.69| 23| 18,356 13.41| 19| 3,197 2 681 1 524 0 0 0 0 0 0 1] 13,954
19 L BARE EHAR 82.29| 219|291,822| 35.46| 120| 19,986| 25| 8,993| 41|26,796| 21|30,861 411,582 5/ 39,993 3]153,611
/INEE 82.29 219|291,822| 35.46| 120| 19,986| 25| 8,993| 41|26,796| 21|30,861 4111,582 5/39,993 3]153,611
ARXAE 1,008.00{1,000|1591,960| 5.87| 649|101,750| 124|43,373| 125|72,366| 70[90,159| 18|51,195 7153,267 71179,850

MBI OIT T BICE R0 554, ZRZROITH CHII A 7L F LTV, Z0kd, V—1 Lo/l
B K AR OB O BT ST, AL RO 51 0% 53 & —F LA,
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BERER
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I WTRE BB sm | e | 8% | sx lmas| B2 | BE | wm |eon| an
EEE—TH 8.22 1566 0 0| 259 0 0 0 67 23 41 546
EZERE_-TE 7.32 0 0 0 0 0 0 0 0 21 0 21
ZERB=TE 6.17 0 0 0 0 0 0 0 0 0 0 0
XEBITH 3.32 0 0 0 0 0 0 0 0 0 0 0

LERER AEBATH 8.78 816| 1,571 0| 245 13 65 0 88 58 0| 2857
WiE—TE 10.44 0 0 0 0 0 0 0 0 0 0 0

WE_TH 8.36 12 0 0 0 0| 259 0| 833 91 0| 1,195

BaI—TH 9.29 176 928 0 994 110 0 0| 202 351 236 2996

INEE 61.90| 1,159| 2,499 0| 1,499 123] 324 0| 1,189] 545| 277| 7,615

AR—TH 10.23 0 0 0 0 0| 156 0 1 0 0 158

BR-TH 9.12 0 0 0 0 17 92 0 0 83 17 210

28R BR=TH 8.94 0 0 0 0 0 0 0 0 0 0 0
BRMTH 9.72| 3,102| 266 0 36 17 0 0 0| 369 0| 3,789

INEE 38.01| 3,102| 266 0 36 33| 248 0 1 453 17( 4,157

HAIZTH 13.63 510 0 74 0 0 95 0| 223 367| 752| 2020

HAI=TH 5.19 0 0 0] 199 22 0 0 13 32 7 273

BRIMT B 9.71 992 0 0 93 57 0 0 141 441 0| 1,697

=H—TH 5.83 0 0 0 0 0 0 0 0 0 0 0

3 AT =H=TH 5.53 0 0 0 0 0 0 0 0 0 0 0
RHB—TE 5.19 0 0 0 0 0 0 0 0 0 0 0

BHM_-TH 5.19 0 0 0| 806 63 0 0 0| 264 0] 1,133

NE—TH 4.22 0 0 0 0 0 0 0 0 0 0 0

NSZTH 6.07 248 101 0 3 0 0 0 0| 126 0 478

NEE 60.56| 1,750| 101 74| 1,101 142 95 0| 250| 1,229] 759| 5,501

F—-TH 6.41 125 0 1 892 44 3 0 92| 225 94| 1,475

%_TH 4.37 72 0 0] 981 26 71 0 9 76 65| 1,300

F=TH 6.49 164 0 0 0 9 0 0 18 33 0 223

FWMTH 3.63 0 0 0 0 0 0 0 0 0 0 0
TTEE—TH 7.17 of 107 0 0 0 0 0 0 14 0 120

4.3 TTEE-TH 4.25 19 0 0| 343] 131 8 0 10 22 47 581
TTEEZ=TH 7.31 105|295 0| 530 8 7 0 1 80 13| 1,040
TTEEMTH 5.16 3 0 0| 886 33 0 0 80 26 22| 1,051

B —TH 454 0 0 0 0 0 0 0 0 0 0 0

BE_—TH 7.35 155 0 0 0 0 0 0 0 0 0 155

INEE 56.68 642| 402 1| 3,633| 251 89 0| 210 476 241 5945

HEAE—TH 7.20 48 0 7\ 657 53 8 0 26 9] 120 927
BEE_TH 7.67 317 0 0 94 0 0 93 38| 177 4 723
BEXE=TH 12.30f 2211 24 0| 1,326| 161| 1,806| 113 89 331 96| 6,156

5L WAR—TH 6.60[ 1,440 0 0| 594 3 0 0 88| 336| 134 2,695
WARZTH 8.11 21 0 0| 1,106] 154 90 0 32| 406 51| 1,860
MARZ=TH 8.25| 1,227 0 0| 895 131 67 0 65| 314 45 2,744
MARMTH 5.64 84 0 0 0 0 8 0 12 1 0 104

INEE 56.77| 5,347 24 7\ 4,671 502| 1,979] 206 350| 1,573] 449| 15109

XE—TH 11.98 0 0 0 0 0 0 0 0 0 0 0

EZE_TH 20.32| 1,500 57 5(20,318| 123 2 0| 1,150| 1,304| 1,755| 26,214

EFM—THE 5.79 323 362 0 of 127 0 0 15 61 1 889

6 XEm EM=TH 8.47 91 0 0 0| 103 0 0 9 22 1 226
TENF—TH 11.14] 5224 264 0 0 0 0 0 0| 1,009 11 6,498
TINF=TE 7.49| 5657 0 0 0 0 32 0 54 51 0| 5,794

NEE 65.19] 12,794 683 520,318 353 34 0| 1,228| 2,448| 1,757 39,620
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I BTRE | BR L am e | A% e lmase| B2 | EE lu| ww | om| et

EE=TH 9.70 0 0 0 0| 106 0 0 43| 469 0 618

EEMTH 111 2215 229| 178 0] 179 63 0 69| 206 0] 3,139

1EREI EZERTH 16.74 200 0 0| 203] 127 4 0 141 185 2 735
EEANTH 12.93] 1,399 0 0 61 0 19 0 86| 410 39| 2015

INEE 4049 3814 229| 178| 264| 412 85 0| 213] 1,270 42| 6,507

S$F—TH 17.89 11,705 0| 194] 797 51 39 0 191 1,713| 254 14,771

4FZ-TH 16.36 650 565 0 1,339| 258 31 0 38| 342 0| 3223

845H EEETH 9.65| 9,910 0 0] 2924 121 0 0 0| 845 114 13913
REXE—TH 5.68 0 0 0 0 85 0 0| 129 138 16 367

INET 49.68| 22,265 565| 194| 5060| 515 70 0| 185| 3,038| 383| 32,275

BIN—TH 11.77( 1,110{ 358 5[ 353 59 0 0 52( 338 55| 2,330

FBIIZTH 13.37( 1,069 0 749 3| 163| 139 346| 449 288 3,206
BAR—TH 8.62 0 0 0 0 0 0 0 0 0 0 0

9.55 | BAREZTH 10.47 1056 0 0 0 15 0 0 7 50| 185 362
Ei5—TH 15.70f 1,065 0 94( 273 65 1 0 15 75 8| 1,596

B5_-TH 11.34 987 0 0| 2560 127| 475 0| 137) 379 218] 2573
HEE_-TH 8.51 98| 447 0| 189 0 0 0 1 220 0 955

NEE 79.79| 4,434| 805 99| 1,815 270| 639 139| 558| 1611| 755 11,023

FHR=TH 12.38 531 0 0| 339 91 31 0| 127) 154 104| 1,376

FERETH 12.42( 1,025 0 0 0 74| 244 0 1 143 0| 1,487

105 =/#%—TH 8.76 935 99 0 97 1 0 0 0| 267 0] 1,398
=/&%_TH 4.42 164 0 15 0 201 104 0 0 98| 125 525

BR=TH 11.31 1560 0 0 0| 127 1 0 0 20 0 298

INEE 49.29| 2,804 99 15| 436| 312| 381 0| 127] 682 229| 5,084

BR—TH 8.62 512 0 0| 746] 129 0 0| 136 115 2| 1,639

BRZTH 7.58 113|200 0f 305 0 0 0 55 58 0 731

FER—-TH 5.85 0| 2,077 0 0 1 4 0 " 67 4] 2,165

11ER FERERZ=TH 6.29 0 0 0 0 0 0 0 0 51 0 51
AB/—TH 9.48 32 0 0| 208 0 0 0 0 22 0 262

ABRZTH 8.35 0 94 0 0 93 0 0 71 70 0 329

INEE 46.19 658| 2,372 0| 1,259] 224 4 0| 273] 382 6| 5177

BE—TH 7.85 663 0 0| 427 26 0 17 318 22| 2,122 3,695

REZTH 9.29 0 0| 103 0| 408| 338 1 0 30| 1,095 1,975

BRE=TH 14.77 419] 434 15| 3,236 520 353 0| 469 366 36| 5,847

12488 REMOTH 8.93 859| 260 0| 173] 266| 166 0 58 99| 130| 2,012
REATH 9.91 0 0 of 121 140] 309 0 12 12 34 628

TAZTH 8.67 191 0 0| 841 482 3 0 79| 264 291 1,890

TAR=TH 7.42 973| 304 0| 182 26 14 0 21 601 134| 2,255

INET 66.84] 3,106] 998 118 4,980| 1,868| 1,183 18] 957| 1,393| 3,681 18,202

AHETH 21.64) 32,978 0| 274 2,983| 694 124 0 37| 4,061| 1,198| 42,350

13.80%E EEHA—TH 15.10| 13,315| 3,356 0| 4697| 918 240 0 70| 3,606 30( 26,231
EBRAZTH 7.74| 2415 73 47 481| 246 93 0 70| 1,169| 819 5413

INET 44.48| 48,708| 3,429| 322| 8,162 1,858 457 0| 177| 8836 2,046| 73,995

AF—TH 7.58| 4,369 0 2| 5715 1,147| 154 0| 164| 549| 529| 12,628

AHZTH 8.11 0 64| 673 0 2,227| 105 0 66| 536 2,086| 5,756

B/H=TH 11.09 240 0 0| 363| 291 270 0 0| 114 57| 1,335

B/HOTH 6.49| 1,140 0| 166| 1,615 492 20 0 8 121 88| 3,549

148 (ARHATH 9.26| 4,139 66| 114 1,230| 553 78 0 4 216| 321 6,721
BHATH 3.99| 1428 0 0[] 1,356 41 10 0 40 14 0] 2,889
Miwm="TH 2.84 844 0 0 0 191 75| 168| 484 117 129/ 2,009

M2 iwmeE T B 6.39 5 0 0 35| 322 317 0 8 170 0 857

NEE 55.76] 12,165] 130 955{10,214| 5,263] 1,030 168| 774| 1,836| 3,210 35,744
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BERER

p—— £ Mo A S0 M T R )
/=¥ | mTEA gﬁgff A | | A% sn lmae| 58 | B sam| wm zom| An

t®H—TH 5.03 0 301 0 0 0 0 0 27 59 0 386
FTH-TH 3.95 139 0 21 0 0 4 27 81 30 0 303
FH=TH 7.38 0 0 0 0 0 0 0 0 0 0 0
15, L8 LtEHMTH 456 0 0 0 0 0 0 0 0 9 0 9
+FHARTH 8.61 0 0 0 0 0 0 0 0 0 0 0
+EARTH 6.23 0 0 0 0 0 0 0 0 0 0 0
UER 1.89 121 0 0 0 0 0 0 0 205 0 326
INET 37.65 260 301 21 0 0 4 27 108 302 0 1,023
BEH—TH 8.69 0 0 0 0 0 0 0 0 0 0 0
EEH—-TH 8.49 1,107 0 0 0 23 51 0 64 79 630 1,953

16,5 1 5 —
BEH=TH 9.16 0 0 0 808 0 0 0 58 188 0 1,054
INET 26.34 1,107 0 0 808 23 51 0 122 266 630 3,007
I t¥H—TH 481 0 0 0 0 0 0 0 0 0 0 0
FEH-TH 9.61 918 0 0 0 0 0 0 43 155 0 1,115
EEEHmMTH 9.70 0 111 0 0 0 0 0 0 207 0 318
174 L5 BHEHATH 7.06 283 0 0] 1,128 64 b7 0 0 309 98 1,938
HEEHRTH 9.99 97 0 11 1,293 152 3256 0 20 196 10 2,094
tHtETH 20.90 0 180 23 0 0 2 5 14| 2,878| 1,592 4694
~&—TH 6.43 198 94 0 632 197 b6 0 6 457 2 1,641
INET 68.50 1,496 3856 24| 3,063 413 440 5 82( 4,200| 1,702| 11,800
Mzim—TH 5.87| 10,745 0| 1,700 0 22| 2,400 0 124 177 239| 15,408
18sthzim |[t2im=TH 7.82 149 149 0 754 387 987 0 132 98 292 2,948
INET 13.69| 10,895 149] 1,700 754 409| 3,388 0 255 275 531| 18,356
_ | EBARE 82.29]| 153,794(26,257(57,517(17,017 6 3 0| 4,363[22,970| 9,896|291,822

19 FB AR .
INET 82.29]| 153,794(26,257(57,517(17,017 6 3 0| 4,363[22,970| 9,896|291,822
BHEXAS 1,008.00( 290,299]39,693|61,228(85,078(12,978|10,504 563(11,423|53,684(26,510( 591,960
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BERER

4 EBERLAE FRFEE) ORERT—X
4.1 BT BRFRERE LR BT
[ETTHRRENE LFEERE (1))

BLEt®&I{As| 1~10nt 10~20nf | 20~40nf | 40~60ni | 60~80ni |80~100nt | 100niLL £
=y BITRE | wpr| @ |G | BR |G| mE @0 ON (G| DR |G| IR g5 me & D8
gl () | & | (D) | % | (D) | % | (D) | & | () | % | ()| &% | (nD) ()
XEE—TH 43 492 30 127 5 62 7 179 0 0 0 0 0 0 1 123
EEB_-TH 38 619 33 108 3 39 1 35 0 0 0 0 0 0 1 437
REB=TH 42 318 31 84 6 90 5 143 0 0 0 0 0 0 0 0
REBITH 29 146 25 91 3 34 1 21 0 0 0 0 0 0 0 0
1.RER REBRETH 46 755 29 135 5 71 8 220 1 58 2 155 0 0 1 117
mE—TH 25 256 17 75 5 84 2 40 1 57 0 0 0 0 0 0
WE=—TH 39 919 14 69 9 140 7 211 6| 286 2 125 1 90 0 0
BmAEI— T8 13 706 1 2 4 62 1 32 3 171 2 123 0 0 2 316
INET 275 4,211 180 691 40( 583 32 880 11 572 6| 403 1 90 ) 993
BE—TH 56 856 37 165 10| 130 3 87 3 154 1 77 1 86 1 157
BEZTH 77| 1,067 52 215 12 158 7 196 3 147 1 65 0 0 2 286
28%® BE=TH 39 408 27 100 6 85 4 107 1 53 1 63 0 0 0 0
BHEMTH 50 784 32 118 8 114 5 165 2 96 1 77 1 96 1 119
INET 222 3,114 148 597 36| 487 19 555 9| 450 4| 282 2 182 4 561
BRIZTH 33 776 1 61 10 160 6 166 3 139 1 66 1 89 1 105
BRI=ZTH 15 217 9 27 3 35 1 30 1 57 1 68 0 0 0 0
BETET B 46 681 30 126 7 98 3 85 2 93 3 195 1 85 0 0
=f—T8H 38 542 23 91 7 100 4 105 2 110 2 137 0 0 0 0
3 3R =f_TH 40 641 25 100 7 93 6 142 1 47 0 0 0 0 1 259
E#—TH 41 312 33 118 5 59 2 78 1 57 0 0 0 0 0 0
E#M—TH 17 153 14 63 1 12 1 22 1 55 0 0 0 0 0 0
NS—TH 31 402 23 85 2 29 1 22 4] 192 1 75 0 0 0 0
INEZTH 29 595 15 70 8 107 1 40 2 90 1 78 1 93 1 116
INET 290| 4,319 183 740 50[ 693 25 680 17| 840 9 620 3| 267 3 480
#—TH 37 509 26 111 6 87 4 120 0 0 0 0 0 0 1 191
F_-TH 24 263 15 73 6 90 2 48 1 52 0 0 0 0 0 0
E=TH 28 446 13 b8 10 137 2 50 0 0 3] 201 0 0 0 0
EMTH 22 223 16 59 3 34 1 37 2 93 0 0 0 0 0 0
JTTEE—TH 59 736 43 196 6 92 8 228 0 0 1 69 0 0 1 151
4% TEETH 24 140 19 73 5 66 0 0 0 0 0 0 0 0 0 0
TTEE=TH 36 297 25 87 9 122 1 22 0 0 1 66 0 0 0 0
JTTEEMTH 35 342 26 100 3 46 4 108 2 89 0 0 0 0 0 0
BE—TH 5 59 3 14 1 12 1 33 0 0 0 0 0 0 0 0
Bz —_TH 10 103 7 19 2 25 0 0 1 58 0 0 0 0 0 0
INET 280 3,119f 193 792| 51 713 23 644 6 292 5[ 336 0 0 2 342
EExE—TH 26 461 12 62 6 98 6 176 1 49 1 77 0 0 0 0
EEE_-TH 57 374 44 136 10| 140 2 52 1 47 0 0 0 0 0 0
BEE=TH 70 869 45 178 12 161 10 274 1 49 0 0 1 88 1 119
BFaE wha—T8H 22 536 8 39 7 95 5 138 1 50 0 0 0 0 1 214
MWAARZTH 40 350 32 125 5 70 1 26 0 0 2 129 0 0 0 0
MMAARZ=TH 42 374 38 137 0 0 1 24 1 50 1 78 1 84 0 0
NV ur = 48 463 32 117 9l 111 5 144 2 90 0 0 0 0 0 0
INET 305| 3,426] 211 793| 49 674 30 834 71 335 4] 284 2 172 2 333
EZE—TH 75 1,277 50 226 14| 202 6 160 3 142 0 0 1 83 1 463
ERETH 103| 1,639 60 3056 23| 306 11 321 4] 218 2 136 1 95 2 258
EfM—TH 27 896 17 82 5 76 3 102 0 0 0 0 0 0 2 636
6. RE™m EF-TH 39 450 26 116 8 122 3 80 0 0 2 132 0 0 0 0
EIFE—TH 17 186 8 35 8| 126 1 25 0 0 0 0 0 0 0 0
IFE=ZTH 41 327 31 133 5 71 5 124 0 0 0 0 0 0 0 0
INET 302| 4,775 192 897| 63| 903| 29 812 7 360 4] 268 2 178 5[ 1,357
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[BTTEAREAME LRICEARE (2)]

BERER

EBt#HZis&st| 1~10nm 10~20m | 20~40m | 40~60ni | 60~80m |80~100ni [ 100m LL_E

=y MTEE |@mr| @ (@0 | &% S5 68 |55 G &7 &8 S5 GN |S55| O% (85| G
# () | &% | (D) | & | (D) | & | (D) | &% | (nd) | & | (0D | & | (nD) | % | (n])

ERE=TH 30 569 18 75 4 b4 5 147 0 0 2 131 0 0 1 161
AREMMTH 55 920 43 1556 10 149 1 34 0 0 0 0 0 0 1 583

TxREL ERERTH 113| 1,352 81 322 151 2171 12 349 2 102 0 0 1 84 2 279
ERENTH 56 464 43 169 70 127 5 126 1 42 0 0 0 0 0 0

INET 254 3,305]| 185 720| 36| 547 23 656 3 144 2 131 1 84 4] 1,022

SFE—TH 28 536 17 82 3 37 2 46 4| 222 1 62 1 86 0 0
4SFEZTH 51 687 34 141 8 100 5 146 1 53 2 141 0 0 1 105

857 AELETH 13 87 9 32 3 32 1 24 0 0 0 0 0 0 0 0
BHXE—TH 24 329 17 78 4 b6 0 0 2 100 0 0 1 95 0 0

INET 116| 1,639 77 333| 18| 224 8 216 7 375 3 203 2 181 1 105

FHI—TH 68 649 46 185 16| 218 3 92 3 155 0 0 0 0 0 0
FIZTH 29 225 21 86 71 107 1 31 0 0 0 0 0 0 0 0
HARE—TH 39 342 31 107 5 77 0 0 2 90 1 69 0 0 0 0

9.5 1| AAR=TH 61 596 45 161 9 116 3 89 2 95 2 1356 0 0 0 0
®B5—TH 53 1,089 33 139 7 90 5 137 4 187 2 144 1 83 1 309
BH_TH 23 149 20 84 1 10 2 15 0 0 0 0 0 0 0 0
HEE_TH 78 486 69 241 4 64 3 67 2 114 0 0 0 0 0 0

INET 351| 3,535 265| 1,003 49| 681 17 470] 13| 641 bl 348 1 83 1 309

FER=TH 73| 1,065 46 182 17| 241 5 155 1 51 2| 156 1 93 1 188
FEITH 41 385 32 106 4 67 2 55 2 94 1 64 0 0 0 0

10.F% =/#%—TH 49 666 32 109 71 101 5 163 41 211 0 0 1 81 0 0
=J8m_-TH 14 122 11 32 1 16 2 73 0 0 0 0 0 0 0 0
BR=TH 64 619 50 193 6 86 5 138 2 99 0 0 0 0 1 102

INET 241 2857 171 623| 35| 511 19 585 9 4bh5 3 219 2 174 2 290

BER—TH 68 631 56 174 6 77 2 52 0 0 3 219 0 0 1 110
BR_-TH 45 701 33 129 4 55 2 41 2 106 2 132 1 83 1 154
FE—TH 35 382 24 109 4 46 5 143 2 84 0 0 0 0 0 0

MNESR FE_-TH 39 289 31 86 6 90 1 37 0 0 1 77 0 0 0 0
AL—TH 45 611 26 124 10| 142 6 158 2 102 0 0 1 84 0 0
ARZTH 87 763 75 3056 6 89 3 70 0 0 1 78 1 87 1 135

INET 319| 3,377 245 927| 36| 499 19 501 6| 292 71 505 3| 254 3 400

wBE—TH 21 362 12 56 3 50 3 78 1 45 2 133 0 0 0 0
BEZTH 37 559 20 76 9 131 6 185 0 0 1 78 1 89 0 0
BE=TH 37 784 20 97 3 51 7 183 2 84 4| 283 1 87 0 0

1248 BENTHE 10 118 7 45 2 25 0 0 1 48 0 0 0 0 0 0
BERATH 34 423 22 82 5 66 5 132 1 43 0 0 1 99 0 0
TARZTH 19 281 12 56 2 31 3 82 1 49 1 63 0 0 0 0
TA=TH 35 683 21 113 5 71 5 149 0 0 3 212 0 0 1 138

INET 193 3,210] 114 25| 29| 426| 29 809 6| 268] 11 769 3 274 1 138

AtTH 21 256 12 49 4 57 4 104 1 45 0 0] 0 0 0 0

13405 THHA—TH 19 214 12 47 3 43 3 67 1 56 0 0 0 0 0 0
EERAR=TH 14 207 7 32 4 58 2 70 1 48 0 0 0 0 0 0

INET 54 677 31 128 11 158 9 241 3| 149 0 0 0 0 0 0

Ah—TH 22 175 16 92 5 62 1 21 0 0 0 0 0 0 0 0]
AH-TH 16 283 9 45 2 28 4 115 0 0 0 0 1 96 0 0
AH=TH 42 654 17 75 13 193 8 195 3 128 1 63 0 0 0 0
AFETH 8 136 3 14 2 31 2 47 1 45 0 0 0 0 0 0

14898 |(AhRERTH 16 104 14 bb 1 18 1 31 0 0 0 0 0 0 0 0
AFRTH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HRIm=TH 15 429 9 48 1 15 2 61 2 106 0 0 0 0 1 199

M2l T B 29 464 15 59 7 96 5 138 1 44 0 0 0 0 1 127

INET 148 2,244 83 386| 31 443 23 608 71 323 1 63 1 96 2 326
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BERER

(BTTBAIMREANE LRIEERE (3)]

EL&itast] 1~10m | 10~20nf | 20~40ni | 40~60n7 | 60~80n |80~100nt | 100mi £
=y BMITE%® |wm| @ (@ | @e |G| OE |GF| 5% |G| GR |G| 58 (G5 5% |65 58
% | () | % | () | % | (nf) | % | (nD) | % | (nD) | % | (o) | % | (nD) | % | (o)
t®H—TH 32 945 24 78 1 11 3 87 0 0 1 76 0 0 3 694
FH—-TH 13 206 7 25 1 13 4 111 1 56 0 0 0 0 0 0
FH=TH 52| 1,049 32 125 12 160 2 51 3 156 1 62 0 0 2 496
15. L8 LtEMETH 5 303 2 1 0 0 0 0 0 0 1 70 0 0 2 221
FHRTH 34 273 28 111 4 66 1 25 0 0 1 71 0 0 0 0
LB XRTH 25 180 21 98 2 32 2 49 0 0 0 0 0 0 0 0
NER 19 464 6 26 8 113 2 47 1 50 0 0 0 0 2 229
INET 180 3,420 120 475 28| 395 14 370 5[ 261 41 279 0 0 9| 1,640
HHH—TH 75 601 63 252 8l 122 0 0 3] 150 1 77 0 0 0 0
®EH_-TH 58 930 42 144 5 76 8 240 1 48 0 0 0 0 2 421

16515 —
H"EH=TH 80 824 64 2556 7 101 6 184 0 0 0 0 2 171 1 113
INET 213] 2,355 169 651 20 299 14 424 4] 198 1 77 2 171 3 534
FtEH-—-TH 12 167 7 37 1 19 4 112 0 0 0 0 0 0 0 0
FEH=-TH 31 403 21 1156 4 61 3 79 2 856 1 62 0 0 0 0
HLEHIOTH 19 650 9 31 2 35 2 60 2 108 1 80 0 0 3 335
1746 L5 HEEHATH 22 512 11 61 5 70 1 25 2 88 1 64 1 89 1 116
HEHATH 72 854 46 163 13| 172 10 280 2 99 0 0 0 0 1 149
+¥+TH 24 594 7 47 4 56 11 277 1 52 0 0 0 0 1 162
TA—TH 17 296 9 54 2 23 5 163 1 56 0 0 0 0 0 0
INET 197 3,476 110 498 31 436 36 996 10| 487 3] 206 1 89 6 763
Mz im—TH 20 891 3 11 2 32 6 167 5 236 1 67 0 0 3 379
18zim |[Mzim—TH 36 689 24 97 5 77 3 81 0 0 3 194 0 0 1 241
INET 56| 1,681 27 108 7 109 9 247 5 236 4] 261 0 0 4 619
- EHANE 78| 2,000 50 144 8 105 11 383 2 85 1 72 0 0 6| 1,210
19, LHRE INET 78| 2,000 50 144 8] 105 11 383 2 856 1 72 0 0 6| 1,210
BEREXAE 4,074 56,640] 2,754(11,030| 628 8,889| 389(10,913| 137( 6,762 77| 5,327 26| 2,296 63|11,423

KELRAEPEEOITRICELR 256, TRENOITH TEFIKZI 7V LTS, ZDkD, Y—r T Lo/
AR OR RO R LA O EHTEIL, AXHOEK 6-1 DE L —H LR,

- BHR-24 -




4.2 HT HAB M ARIE LR ERTEK
(BT TERLRMARNE LRIEEFRH (1))

N 2 |axmgR| =4 | AAE | wotE [makR | =xF % | zot |BEgbE

=y BTE® (| @k || mK |G| @ |G| WK || WA |AT| mA |G| WK | | m (AT E || m | m | E
()| % | () | % [ (o) | % (D) | % [ () [ & | () | | ()| &% | ) [ & ()| % || % | (m)

AEB—TH 0 0 0 0 0 0 0 0 0 0 8 108 5 44 33 339 1 0 1 0 48| 492
AEEB-TH 0 0 21 441 0 0 0 0 9 22 1 2 0 26 148 4 5 0 0 42 619
REE=TH 0 0 0 0 0 0 1 1 6 25 9 100 1 17 28 172 4 1 1 1 50 318
ZEBETE 0 0 0 0 0 0 0 0 6 18 4 46 0 22 82 1 0 0 0 33 146

1255 REEARTH 0 0 3| 230 0 0 0 0 5 13| 16 236 0 32 253 2 0 3 22 61 755
WME—T8H 0 0 0 0 0 0 0 0 4 12 2 59 0 22 168 2 0 1 17 31 256
WE=TH 0 0 0 0 0 0 1 8 2 36| 16 386 1 90 21 285 1 15 2 100 44 919
BRI—TH 0 0 5] 336 0 0 0 0 0 0 3 95 0 0 7 191 0 0 1 84 16| 706

INET 0 0f 10(1,007 0 0 2 9| 32| 127| 59| 1,033 71 151| 191 1,638| 15[ 22 9 225| 325| 4211

AE—TH 0 0 0 0 1 51 0 o] 1 90 5 143 0 0| 42| 491 5 4 8 77 72| 856
BEZTH 0 0 0 0 0 0 0 0 9 40| 24 350 0 0 54 623 4 4 8 50 99| 1,067

YASY: | B®E=TH 0 0 0 0 2 48 0 0 8 20 5 96 0 0 30 226 7 18 0 0 52 408
AEMTH 0 0 1 34 0 0 0 0 8 47| 10 252 0 0 33 420 1 0 1 31 54 784

INET 0 0 1 34 3| 100 0 0| 36| 196| 44 840 0 0| 159| 1,760 17| 25| 17| 159} 277| 3,114

BEIZTH 0 0 0 0 1 55 0 0 1 10 6 253 0 0 21 361 2 2 5 95 36 776
BEI=TH 0 0 0 0 0 0 2| 68 2 4 4 90 0 0 10 55 0 0 0 0 18 217

BRI T B 0 0 0 0 0 0 0 0 8| 112| 12 312 0 ol 27 224 2 6 5 27 54| 681
=m—TH 0 0 0 0 0 0 0 0 3 31 11 248 0 0 30 265 1 0 4 25 49 542

3 AT =f=—TH 0 0 0 0 1| 259 0 0| 11| 138 7 81 0 o 24 159 2 0 3 4 48| 641
EH—TH 0 0 0 0 0 0 0 0l 13 43 8 119 0 0 24 126 7 5 4 19 56 312
E#M=TH 0 0 0 0 0 0 0 0 2 8 4 65 0 0 14 71 2 9 0 0 22 153
NS&—TH 0 0 0 0 0 0 1 0 9 26 8 237 0 0 18 125 4 8 2 6 42 402
INGZTH 0 0 1 8 0 0 0 0l 12| 138 1 2 0 0 15 431 7 3 3 13 39 595

INET 0 0 1 8 2| 313 3| 68| 61| 483| 61| 1,407 0 0| 183| 1,818 27| 32| 26| 189| 364| 4319

H—TH 0 0 0 0 0 0 6| 108 3 36 8 41 0 0 18 111 2 0 3| 214 40 509

#-TH 0 0 0 0 0 0 1 0 7 451 10 116 0 0 13 102 1 0 0 0 32| 263

#=TH 0 0 0 0 0 0 0 0 6 48| 13 172 1 61 11 162 2 2 0 0 33 446

HMTH 0 0 0 0 0 0 1 7 8 25 5 101 0 0 8 90 1 0 0 0 23| 223
TTERE—TH 0 0 0 0 0 0 0 ol 11 50( 13 446 0 0 36 240 2 0 0 0 62 736

4.3 JTEREZTH 0 0 0 0 0 0 0 0 1 1 7 31 0 0 16 106 1 0 1 1 26 140
STEE=TH 1 2 0 0 0 0 1 20 6 44 6 112 0 0 23 119 4 1 1 0 42 297
JSTEEMNTH 0 0 0 0 0 0 0 0 8 33 8 84 0 0 21 175 1 0 3 50 41 342
BE—TH 0 0 0 0 0 0 0 0 1 3 1 12 0 0 3 45 0 0 0 0 5 59
Bf_—TH 1 3 0 0 0 0 0 0 1 2 3 25 0 0 5 63 1 0 2 9 13 103

INET 2 5 0 0 0 0 9| 134| 52| 288| 74| 1,141 1 61| 154] 1,212] 15 41 10 273| 317{ 3,119

BERE—TH 0 0 0 0 5 112 6| 119 3 15 6 102 0 0 5 83 1 0 2 30 28 461
FEEE_TH 0 0 0 0 0 0 0 0 9 33 59 2 6| 41 263 2| 13 0 0 60[ 374
EEE=TH 0 0 2 38 0 0 0 ol 14 72| 24 267| 10| 234 31 253 2 0 3 5 86 869

SALE WHAS—TH 0 0 5| 268 0 0 0 0 1 0 3 63 0 0 11 136 1 1 4 69 25| 536
MR ZTH 0 0 0 0 0 0 0 0| 16 71 5 155 0 22 120 2 2 2 2 47 350
WABR=TH 0 0 0 0 0 0 0 0 9 28 5 60 0 33 284 2 0 1 1 50 374
WABRIETHE 0 0 0 0 0 0 0 ol 12 53| 21 249 0 21 148 3 13 1 0 58 463

INET 0 0 7| 305 5 112 6| 119 64| 271| 70 955 12| 240| 164| 1,287| 13 29| 13| 107| 354| 3,426

AE—TH 0 0 0 0 2 19 0 0 5 38 4 56 5| 134| 62| 1,020 71 10 3 1 88| 1,277
EE_TH 0 0 0 0 1 30 8| 45 3 21 6 214| 43| 753 41 519 5 2 10 54f 117| 1,639
EM—TH 0 0 3| 296 11 364 0 0 5 65 2 15 0 0l 20 156 0 0 0 0 31 896

6. %Em EM=TH 0 0 0 0 0 0 0 0 5 65 4 157 2 26 30 201 1 1 0 0 42 450
fEINF—TH 0 0 0 0 0 0 0 0 0 0 9 88 0 8 35 1 1 5 62 23 186
fEINFZ=TH 0 0 0 0 0 0 0 0 9 48| 10 73 0 26 188 0 0 2 19 47 327

INET 0 0 3| 296 4 413 8| 45| 27| 236 35 603| 50| 913| 187| 2,120| 14| 13| 20| 136| 348| 4,775

- HFE-25 -




(ETTERA LA AMNE LRIEEFRH (2)]

NS =10 AR | Fi BAE | £&&E | BHaER =T EEE oM | B ERIEE

=y BTTRE || w5 mak |0 mAE S| ma || ma (| m |EAT| m | meT | ma || m || ma | me | E
() | & | (o) | s | (o) | % () | % | (D) | & | (o)) | % |(nD) | % | (o) | % [(eD) | % [ (eD) | # | ()

ERE=TH 0 0 0 0 0 0 0 0 9 49| 14 370 0 0 11 138 1 12 0 0 35 569
AEMTH 0 0 1| 583 1 10 0 o] 11 76 4 47 0 0 37 195 2 0 3 10 59 920

TxREd EAEARTH 0 0 0 0 0 0 0 0| 48| 301| 19 324 1 8 49 574 4 1 41 145] 125| 1,352
AEXRTH 0 0 0 0 0 0 0 of 12| 139| 12 129 0 0 37 193 2 3 1 0 64 464

INET 0 0 1| 583 1 10 0 0| 80| 565| 49 869 1 8| 134( 1,101 9] 16 8| 155| 283| 3,305

45—TH of of 2| 110 of o 2 14| 7| a4l 6] 1a7] of o 3] 214 5| 2| 1] 5| 36| 536
SE”-TH 0 0 11 105 0 0 0 0 71 8 125 0 0 30 155 3 0 9l 229 58 687

857 AEETH of ol o o o o of o 25 ol o of of 9o 2 of o o o 13 87
HAXE—-TH 0 0 3 39 0 0 0 0 19 5 34 0 0 15 237 1 0 0 0 28 329

INET 0 0 6| 254 0 0 2| 14| 22| 159| 19 306 0 0 67 668 9 3| 10| 235 135| 1,639

BN—TH 0 0 0 0 1 49 2 171 12 98 8 65 0 0 45 399 2 2 5 19 75 649
FINZTH 0 0 0 0 0 0 0 0 8 26 1 31 6 45 10 54 1 0 6 68 32 225
BAR—TH 0 0 0 0 0 0 0 0 8 95 5 28 9 75 15 64 2 1 2 79 41 342

9.5% 1| BHARZTH 0 0 0 0 0 0 1 9 21| 185 4 101 0 0 32 257 2 1 12 43 72 596
#E5—TH of of of o 3 117 ol of 14| 107] 8 131 of o 19| 114 2| o| 15 620 61| 1,089
B5-TH 0 0 0 0 0 0 0 0 6 44 6 16 0 0 11 90 0 0 0 0 23 149
EEE-TH of o 16| 271 of o 3| 7| 28 126] 1 o 1| 5| 34 307 3| 1| 2| 10| ss| 486

INET 0 of 16 27 4/ 166 6 33| 97| 680 33 374 16| 125| 166| 1,285| 12 6 42| 839 392| 3,535

FHE=TH 0 0 0 0 0 0 1 6| 21 90| 22 209 0 0 26 214 4 2| 14| 544 88| 1,065
FERMUTH 0 0 0 0 0 0 0 0| 15 82 7 171 0 0 17 57 3 0 8 75 50 385

10.F 5% =/&—TH 0 0 0 0 0 0 0 0| 17| 189| 15 282 0 0 15 45 2 7 8| 143 57 666
=/%-THE of of of o o o of o 4 9o s s o o e 11| of o 2 45 17| 122

BR=TH 0 0 0 0 0 0 0 0| 25| 150{ 10 312 0 0 28 130 5 6 3 22 71 619

N of of of of of of 1| 6| s2[ s20] 59| 1.020] o o o2[ 458] 14| 15[ 35| s30] 283 2,857

BR—TH 0 0 0 0 0 0 0 of 21 81| 13 310 0 0 34 151 0 0 4 90 72 631
BE2-TH of of o o of o ol ol 10 43| 12| 166 of o 22| 147 2| 3| 7| 342] 53 701
FE—TH 0 0 1 40 0 0 0 0 4 75| 16 214 0 0 14 51 1 2 0 0 36 382

MNER FEZ-TH 0 0 0 0 0 0 0 0 6 251 13 163 0 0 24 97 0 0 2 4 45 289
ABR—TH 0 0 0 0 0 0 0 of 11 98| 23 307 0 0 18 182 4 4 3 19 59 611
ARZTH 0 0 9| 222 0 0 0 0| 32| 132 6 29 0 0 46 228 5 4 3| 149] 101 763

N of of 10| 262 of o o of sa| 455 83| 1.188] o of 158] s57] 12| 13[ 19| e03| 366 3.377

wBE—TH 0 0 0 0 0 0 0 0 2 9 3 137 2 45 16 152 0 0 1 19 24 362
BE-TH of of o o of o ol o 9o ea4 12 197 of o 14| 202 1| o 2| 96 38 559
RE=TH 0 0 2 30 2 37 0 0 7 83| 15 313 0 0 13 189 4 1 41 131 47 784

e [RAETE of o o of ol o of 4 35 1 11 o o 7| et| 1| | | 1] 14 118
BEAETH 0 0 0 0 0 0 0 9 56 8 188 0 0 14 110 2 1 4 68 37 423

TARZTH 0 0 0 0 0 0 0 6 18 5 147 0 0 10 115 2 1 0 0 23 281
TR=TH 0 0 6| 232 0 0 0 0 1 12 7 234 1 8 21 177 1 1 3 20 40 683

INEE 0 0 8| 262 2 37 0 0| 38| 276| 51| 1,217 3 52 95| 1,025| 11 5 15| 335) 223| 3,210

AFETH of of of of s 10| 1| 8] 6 s 2| o of of of o of of 11| 103] 25] 256

134 LEHHAR—TH 0 0 0 0 0 0 0 0 9| 103 8 84 0 0 3 27 0 0 0 0 20 214
rmieA=TE| o of o ol o of o o o s s 71| o o o of o o 2 48 16 207

INET 0 0 0 0 5| 110 1 8| 24| 227| 15 155 0 0 3 27 0 0f 13| 150 61 677

AH—TH of of of of of of of of 11] 78] 10 92 of o 6| ol ol of of 22 175
AR-TH 0 0 0 0 0 0 0 0 4 38| 12 236 0 0 1 9 0 0 0 0 17 283
AH=TH 0 0 0 0 0 0 0 o[ 10 102| 10 207 2 28 12 133 1 0 10| 185 45 654
KRAMTH 0 0 0 0 0 0 0 0 3 25 5 111 0 0 0 0 0 0 0 8 136

1489 |AFAETH 1 7 7 16 0 0 41 41 4 16 0 0 0 0 0 1 24 0 0 17 104
BhATH of of o o o o of of o o o o o o o of o o o o o
HZIH=TH 0 0 0 0 0 0 0 0 6 46 3 47 0 0 8 336 0 0 0 0 17 429

Stz T B of of o o of o ol ol 16| 200] 10| 243 of o 5 18 2| 3 of of 33 464

INET 1 7 7 16 0 0 4 41| 54| 505| 50 935 2 28 27 501 41 27( 10| 185) 159( 2,244
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(BTTEAMLHFANE LRIEERE (3)]

~E ER NERER | Ftt BAE | £4EE |BRER | FER & B zofs | BB

= BITEA || m || ER |0 E 60| mR e mX (M5 ER (6| m | e | mR 6| mR e @R | 6 | B
B (i) | & |(nd) | & |(nd) | & (o) | & | (o) | & | (n]) | & |(n) | & | (0D) | & (D) | & | (0D | & | (nd)

+t¥H—TH 0 0 2| 212 0 0 0 0 1 4 0 0 0 0 26 676 1 2 4 51 34 945
TH=TH of of o o of o of of 2 3 o o 2 e 3 83 ol o 7| 143 14 206
+H=TH 0 0 0 0 0 0 0 0 1 11 4 169 0 0 51 863 2 2 1 5 59| 1,049

i |FEETE of of o o o o of of o o o o of o 5 23 of of 3 7| s 303
tHATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 35 266 3 4 1 3 39 273
FEHARTH 0 0 0 0 0 0 0 0 0 0 0 0 2 32 19 96 1 1 4 52 26 180

MER 0 0 0 0 0 0 0 0 0 0 0 0 2 34 17 430 0 0 0 0 19 464

INET 0 0 2| 212 0 0 0 0 4 18 4 169 6 71| 156| 2,617 7 8| 20| 325) 199| 3,420

HEH—TH of of of of of of of of of of 4 o3| of o es| 483 of o s 15] 77| 601

165 L ®EH-TH 0 0 0 0 0 0 0 0 0 0 1 48 5 312 45 298 1 o 12| 272 64 930
HEH=TH of of of o 1| 17| of o 8 24| 4] 138 1| 2| e8| e42| 2| 1| of o 84 s24

INET 0 0 0 0 1 17 0 0 8 24 9 289 6| 313| 181| 1,424 3 11 17| 287| 225| 2,355

trH—TH of of of of of of of of of of 7] 123] of o s a4 1| o of of 13| 167
FEHE-TH 0 0 0 0 0 0 0 0 7 44 9 136 0 0 21 215 2 2 1 6 40 403
REHMUTH 0 0 2 28 2| 193 0 0 3 10 2 104 0 0 12 313 4 1 0 0 25 650

1740L 5 EFHATH 0 0 0 0 1 44 0 0 4 7 4 177 0 0 16 285 0 0 0 0 25 512
REHATH 0 0f 18| 196 0 0 2| 37 6 100 14 143 0 0 36 352 3 2 5 24 84 854
EHETH of of 1| 162 o of o 1| 2| 4 75| 6 103 8 120| 2| 1| 11| 122] 33| 594
TA—TH 0 0 0 0 0 3] 156 5 48 5 141 0 0 6 91 1 0 1 0 21 296

Nt of o 21| s87] 8| 237 5| 52| 26| 211] 45| 89| 6| 108| 104] 1.420] 13| 6| 18] 152 241| 3476

Mwrim—TH 0 0 0 0 11 141 1 67 0 of 11 470 0 0 12 213 0 0 0 0 25 891

1832t [weis—TH of of 9 318 of o of ol 5 28 24 332 of o 5 11| ol o 1| 1| 4| es9
INET 0 0 9| 318 11 141 1 67 B 28| 35 802 0 0 17 224 0 0 1 1 69| 1,581

19 LB J:E?’A 5| 52| 24| 710 48[1,018 0 0 0 0 2 32 0 0 9 68 0 0 11 121 89( 2,000
INET 5| 52| 24| 710| 48|1,018 0 0 0 0 2 32 0 0 9 68 0 0 11 121 89| 2,000

AERXART 8| 64| 126|4,681| 79|2,673| 48| 596| 796(5,270| 797|14,242| 110(2,066|2,247|21,5619| 195( 225| 304|5,305|4,710(56,640
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DGR K RO R O EFTEIL, AXLP DR 6-1 RBEREE 4.1 OEL - LRV, F7o, EHEIZ/NEALUT
O EGTTD, GRS 1 U LETHS THHEN 0 LR DIHBENRD D,
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5.1 EIT BRIBAEAMNEA (KBEAK) #
(A TEHARANER (KEX) & (D]

AE (KRB HE) DEMRT —X

A (E) 10had =Y
4% BrTEA Iﬂﬂzhﬁagﬁé 90~120cm [120~150cm| 150cm AETFE ast DA
Kl b BLE i = (#/10ha)
EZEEB—TH 8.22 12 5 10 27 32.8
XEE-TH 7.32 9 11 4 24 32.8
EZEB=TH 6.17 6 8 2 16 25.9
EZEBUTH 3.32 - -
1.RER ZEBRTH 8.78 23 11 13 47 53.5
HE—TH 10.44 7 1 8 7.7
ME=TH 8.36 8 2 4 14 16.7
BE—TH 9.29 22 22 18 62 66.7
INET 61.90 87 59 47 5 198 32.0
AE—TH 10.23 8 2 10 9.8
BEZTH 9.12 6 2 1 1 10 11.0
28E BHE=TH 8.94 7 4 1 12 134
AHEMNTH 9.72 47 20 22 7 96 98.7
INET 38.01 68 28 24 8 128 33.7
BAI=TH 13.63 44 11 7 2 64 46.9
BmAEI=TH 519 25 8 2 35 67.4
BRI T B 9.71 37 16 10 3 66 68.0
=H—TH 5.83 _
e =H=TH 5.53 3 1 4 7.0
ST BH—TE 5.19 2 2 39
EH-—TH 519 10 5 7 1 23 44.3
NS—TH 422 3 1 4 9.5
NSZTH 6.07 4 17 10 31 51.1
INEE 60.56 128 59 36 6 229 37.8
F—TH 6.41 9 1 3 13 20.3
#-TH 4.37 10 4 3 8 25 57.2
E#=TH 6.49 10 1 2 13 20.0
EWMTH 3.63 3 3 8.3
TEAE—TH 7.17 15 9 2 26 36.3
4% TEAEZTH 4.25 12 4 4 20 471
JTEE=TH 7.31 5 6 5 1 17 23.3
JTEAEMNTH 5.16 15 10 3 28 54.2
Efz—TH 454 16 6 22 485
B —TH 7.35 16 8 24 32.6
INET 56.68 111 49 22 9 191 33.7
BEXE—TH 7.20 3 5 7 3 18 25.0
BEAE_TH 7.67 2 8 2 12 15.6
BXE=TH 12.30 41 18 16 3 78 63.4
bR VA?bf%.ijTE 6.60 30 6 13 4 53 80.4
WHARZTH 8.11 10 7 14 1 32 39.5
WMHAR=TH 8.25 24 22 18 3 67 81.2
WARIET B 5.64 10 4 14 248
INET 55.77 120 70 70 14 274 491
ZE—TH 11.98 2 1 3 2.5
EETH 20.32 167 139 196 3 505 2485
EfF—TH 5.79 8 4 6 2 20 345
6. %Em EMRZTH 8.47 14 1 15 17.7
fEEINF—TH 11.14 29 45 44 6 124 111.3
EINF_TH 7.49 57 38 37 132 176.3
INET 65.19 277 228 283 11 799 122.6
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RE=TH 9.70 4 1 5 52

ZEMNTH 11.11 18 30 14 1 63 56.7

75 EZEATH 15.74 6 1 3 2 12 7.6

EEANTH 12.93 40 32 8 80 61.8

INET 49.49 68 64 25 & 160 32.3

SFE—TH 17.89 83 53 79 24 239 133.6

SFEZTH 16.36 24 26 13 1 64 39.1

85F EZELTH 9.65 118 96 95 309 320.2

HEAE—-TH 5.68 3 3 4 10 17.6

INET 49.58 228 178 191 25 622 1255

BIN—TH 11.77 20 14 11 1 46 39.1

BINZ=TH 13.37 18 12 5 37 72 53.9

BARE—TH 8.62 1 1 1.2

9.55 )1 HARRZTH 10.47 5 5 1 11 10.5

BE—TH 15.70 15 10 6 31 19.7

BiHB-TH 11.34 16 10 5 4 35 30.9

REXE_TH 8.51 12 3 7 4 26 30.5

INEF 79.79 87 54 35 46 222 27.8

FHE=TH 12.38 21 11 8 3 43 347

FERMUTH 12.42 5 6 5 16 12.9

10.F% %/iﬁ—TE 8.76 20 13 6 39 445

=/%_-TH 442 4 6 6 1 17 38.5

BR=TH 11.31 9 1 10 8.8

INET 49.29 59 37 25 4 125 254

ER—TH 8.62 15 10 12 3 40 46.4

BRITH 7.58 26 5 8 7 46 60.7

FER—TH 5.85 13 10 5 1 29 495

MNER FEZ-TH 6.29 3 3 4.8

AAR—TH 9.48 17 3 1 21 221

AARZTH 8.35 10 4 1 15 18.0

INET 46.19 84 32 27 11 154 33.3

RE—TH 7.85 4 3 8 1 16 20.4

BEZTH 9.29 9 3 3 5 20 215

wBERE=TH 14.77 31 27 28 13 99 67.0

w BEMNTHE 8.93 24 9 9 4 46 515
124RE

BERATH 9.91 9 7 3 5 24 24.2

T™RZTH 8.67 27 8 14 4 53 61.2

T~A=TH 7.42 20 18 9 47 63.4

INET 66.84 124 75 74 32 305 456

B/FETH 21.64 172 131 337 14 654 302.3

13 Lﬁ#&ij 8 15.10 172 156 199 11 538 356.4

THHARZTH 7.74 11 11 34 2 58 74.9

INET 44.48 355 298 570 27 1,250 281.0

B/F—TH 7.58 43 43 107 12 205 270.3

ARZTH 8.11 7 12 18 14 51 62.9

Ah=TH 11.09 9 7 9 3 28 253

[T H 6.49 9 7 29 19 64 98.5

1487 AHHTH 9.26 35 27 65 9 136 146.8

BFRARTH 3.99 5 11 18 8 42 105.3

HMZIHm=TH 2.84 6 8 10 1 25 88.0

Az imre T B 6.39 6 6 6 18 28.1

INET 55.76 120 121 262 66 569 102.0
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A 7 K5 pr | WETE B | (#/10n2)

+tH—-TH 5.03 9 16 2 27 53.7

Lt -TH 3.95 4 4 10.1

+tH=TH 7.38 13 1 1 25 33.9

15. 15 LEUTH 4.56 2 ) 44
+tHRTH 8.61 10 1 11 12.8

LEARTH 6.23 8 8 12.8

ER 1.89 7 5 12 63.6

/NEE 37.65 53 33 3 = 89 23.6

REFH—-TH 8.69 2 2 2.3

16,58 B Eﬁi%fTE 8.49 26 15 6 47 55.3
HIEH=TH 9.16 4 4 14 22 24.0

/INET 26.34 32 19 20 = 71 27.0

IttH—-TH 4.81 26 7 33 68.6

ItEtHE-TH 9.61 23 17 3 2 45 46.8

HEHMTH 9.70 27 15 3 45 46.4

174 L5 HEBAETH 7.06 16 13 6 35 49.6
RHEHATH 9.99 30 7 12 49 49.0

tHETH 20.90 31 40 3 1 75 35.9

THR-TH 6.43 20 4 4 2 30 46.6

INET 68.50 173 103 31 5 312 455

tzim—THB 5.87 48 34 85 19 186 317.1

18.5th 2 i MZim—TH 7.82 14 8 10 1 33 42.2
/NEE 13.69 62 42 95 20 219 160.0

19 L BAR J:E%’A 82.29 786 789 2,236 137 3,948 479.8
/NEE 82.29 786 789 2,236 137 3,948 479.8

ARREF 1,008.00 3,022 2,338 4,076 429 9,865 97.9

- BEFE-30 -




5.2 HTT BAILMAIABIEA (KEA) &K
(BT TEHALHAARNEA (KEX) & (D]

=H(E)

ITE L TTRE ) pm | e | A% | e mom i mae| T8 w22 zow| an
£5E—TH 3| 16 8 27
AEE-TH 3| 5 12 4 24
2EE=TH : 13 2 16
SEENTH i}

1E%E [22EETE 2| 4l 4 10 47
WE—T8 6 2 8

HE=TH 9 1| 4 14

HAI—T B 8| 25 9 20 62

INEF 13 51 4| - 57 | s34 2| | 3 a4 -] 1

aE—TH T 8 10

AE-TH 3| 2 3 2 10

2 8% LE=TH 3 7 2 12
AEETE g4l 1 2 9 9

INEF g7l 7| 1| - 200 | 9 2 | - 2 -] 128

BAI—TE 3 38 T 21 64

EH=TH 7 28 35

AT B 16| 9 10 1 66

=H—TH -

- =H=TH ol 2 4

3HH BH—TH i 1 2
B#®-TH 22 : 23

NE—TE 1 2 1 4

NEZTE 24 4 ol 31

INEF 700 4] | | & | 6 8 | 23 | -| 22

5 TH i 7 1 2 13

£-TH 22 3 25

E=TH 4 7 2 13

FmTH i 2 3
EEE—TH 25 i 26

4% TEETH 20 20
EEE=TH il e 7 1 17
EEEmTH 28 28

Bv—TH 22 22

BP=TH 2 24

INEF 6| 88 | | 51| | 3 2| | 2 2 -| 1o

EEE—TH 18 18
EEE-TH 8| 4 2
mAE=TH #| 29 o sl 78

- WHa—TH 35 14 4 53
SEES lss=TH 1l 29 2 32
WABZTE 0| 25 2 1 67

IANAET B 2 " 1 14

INEF 126 119] - | -] 11| | s 8 5 1 1| -| 274

2=_TH 3 3

sE-TH 7| 493 2 3 505

EM—TH 8 o] 2 20

6£8E  |ZM=TH 15 5
wiE—TE | 17| 1 : 5 124
BIE=TE | 111 21 132

INEF 243 49| | | 42| - 18 2] - 3 | <[ 790
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JovR | WTRE | m | s S | mn | (moE e @AE| B0 wRE L8 20| A
RE=TH 1 2 2 5
EEMTH 54 2 1 3 2 1 63
7xREA RERTH 2 3 4 12
ERERTH 29 48 80
INEE 85 2 = b4 = 3 8 = = 1 = 160
S$F—TH 209 24 [} 1 239
SFEZTH 21 32 8 2 1 64
8.5F EELETH 222 66 21 309
HEE—TH 10 10
INET 462 122 - - 34 - 3 - - - 1 - 622
BF—T8H 37 5 1 2 1 46
FINZTH 45 14 1 1 2 8 1 72
BAARERER—TH 1 1
9.55 )1 AERE=-TH 5 2 11
B5—T8H 13 1 3 6 2 1 31
BE_-TH 12 1 4 18 356
EEXE-TH 4 3 1 16 2 26
INET 95 47 7 = 7 = 24 13 1 8 20 = 222
FHE=TH 13 22 2 6 43
FHERITH 16 16
=J&%—TH 34 3 2 39
1075 =) _TH 10 3 1 1 2 17
BR=TH 5 5 10
INET 78 25 1 = 10 = 2 1 = 8 = = 125
BER—TH 8 21 8 3 40
BR-ITH 16 18 12 46
FHE—TH 28 1 29
MNER FHEZ-TH 3 3
AR—TH 3 18 21
ARZTH 1 2 8 4 15
INET 9 42 18 = 49 = 32 4 - - - - 154
BE—TH 12 3 1 16
B EZTH 6 4 6 4 20
BE=TH 10 56 3 5 12 11 1 1 99
w BEMNTH 18 11 1 8 4 4 46
12488
BERTH 5 [} 1 8 1 4 24
AZTH 27 25 1 53
TAR=TH 24 5 3 15 47
INET 70 107 3 = 43 = 36 30 1 9 6 = 305
At TH 16 71 9 537 12 6 1 1 1 654
1340 % J:Eﬂi‘z'j(jTE 86 2 393 5 39 9 2 2 538
FHHARZTH 5 7 24 20 2 58
INET 16 162 18 954 37 = 39 17 = 3 3 1] 1,250
A—TH 7 184 4 10 205
AP =TH 31 4 15 1 51
AH=TH 10 17 1 28
A@ETH 62 1 1 64
14. 87 AHRARTH 1 77 43 3 1 1 136
ARTH 30 12 42
Wi =TH 21 1 1 2 25
Mz imrE T B 2 5 11 18
INET 28 370 75 = 21 21 4 33 1 4 12 — 569
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BERER
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ITYE ] WTEE ) am | | A% aw | un jmem e mas| FE mem X2 20w an
+t8—TH 17 10 27
tH-TH 4 4
tH=TH 25 25
iy | EEETE 2 2
tHETE 11 1
LHATE : 8
B 6 6 12
IINEE 6 = = = 73 10 = = = = = 89
LT TH 2 2
 |mrm=TE | W7 : 2 47
B 21 1 2
INEE 37 21 = = 11 = = = 2 = = 71
FttEH—-—TH 17 16 33
ItEtB_TH 35 5 5 45
HLHMTH 12 1 10 17 5 45
REHATH 6 25 3 1 35
1AL HEHATH 4 43 1 1 49
+EBETH 72 3 75
FA-TH 7 20 3 30
INET 57 76 10 = 135 13 1 = 17 = 3| 312
Mzim—TH 16 169 1 186
18028  |hzm=Ta 2| 29 i 1 33
INET 18 291 169 = = 1 = = 1 1 = 219
19 EBAR J:E]ziji 1,607 292| 804 39 201 723| 422 12 29| 3,948
Mt | 1.607] 20o] 04| s9| 20| 723] 422 | -| 12| -| 29| 3948
BERREE 3,143| 2,098| 1,112 993| 762 744| 694 129 8 96 53 33| 9,865
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5.3 BERBEREA (KEK) &K

(BMEMNSRANBK (KEX) & (D]

AH(R)
HE4 90~120cm | 120~150cm 150cm = =
e P BLE FAETEE =
AF3av 649 452 674 35 1,810
i 286 278 471 40 1,075
TYF 224 249 443 43 959
DRI F 206 210 468 53 937
AZTA 183 143 395 60 781
BOZ (VAA4I ) 130 148 374 25 677
E/* 132 114 76 1 323
558+ R 118 53 43 6 220
/¥ 45 40 104 8 197
EXTVARE 55 45 89 2 191
FNIRXRXZIETF 65 39 53 13 170
EF/ & 61 47 46 9 163
NS 29 20 106 7 162
TN A 65 38 35 9 147
NoAIT 65 27 27 13 132
AREaAY 11 14 78 5 108
2T/ F 24 15 44 14 97
IAY 37 18 37 4 96
TAFEY 35 18 16 3 72
403 20 22 19 11 72
X+ 13 19 29 3 64
Evay 33 14 10 3 60
FRIEF 31 16 8 1 56
HodVa 15 14 26 1 56
IoPa 22 10 12 44
YYEE 16 11 13 3 43
2 23 8 8 3 42
TIAY 11 11 16 1 39
RAYRY 16 11 9 2 38
7¥=L 8 8 20 36
AONEZID 9 8 11 6 34
SHELYFFE 5 6 22 33
NFJF 23 3 7 33
Nt/ F 4 8 20 1 33
i) /¥ 6 3 23 32
TID 14 7 5 4 30
Y575 (vY¥53T) 9 3 13 25
¥ 13 8 4 25
JOAXETF 10 8 6 24
Y05 (MY 3F) 10 4 10 24
TFTAAHLT 7 4 8 3 22
ThFE 18 3 1 22
Y5 (ALY YT) 9 6 6 1 22
YIREZIY 14 4 4 22
AT A3y 4 3 11 18
Yr¥ 8 6 4 18
Ta 2 2 11 2 17
<Y 6 5 5 1 17
saxy 6 2 7 1 16
FAYAEIDNTY 2 13 15
YH5 (FF<HF07) 7 6 2 15
P AN A S 10 4 1 15
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AF3ay 455 536 96 483 118 10 7 3 102 | 1,810
T35 229 223 143 72 133 17 1 27 5 2251 1,075
TYE 529 194 69 25 40 5 9 8 80 959
yVES 464 170 64 27 29 4 6 20 11 142 937
AETA 126 271 166 1 48 36 3 9 121 781
o5 (AT )) 594 53 2 15 3 10 677
E/*% 1 7 4 1 2 1 307 323
TIS5AF R 77 5 6 90 3 1 1 37 220
I/% 45 b6 19 23 1 2 51 197
EXTVYAE 20 90 30 2 36 7 2 4 191
rIRXZIEF 39 30 8 9 5 1 78 170
EF/F 15 27 65 13 1 1 41 163
VNyVES 53 24 22 1 25 2 2 33 162
IT/INA 28 13 84 2 8 2 10 147
cNohTT 72 4 17 11 13 2 13 132
ARtaAY 28 12 9 2 1 b6 108
"2T)% 16 26 9 13 3 1 3 26 97
ThY 9 12 46 1 2 2 24 96
TAE) 21 9 16 4 16 1 5 72
T 8 5 13 46 72
X+ 2 5 14 19 24 64
Tyay 5 11 16 3 1 24 60
Hyd0a 21 16 10 3 1 1 4 56
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YYEE 21 4 8 1 2 7 43
Vil 2 23 5 2 1 1 1 1 6 42
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AONEZD 2 8 1 1 1 11 34
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BERER

6 FRERBA - REGMHAE (KRB IF) OERT —X

6.1 ETT HAIRERXDRRERAL
[Br T BRISEAR SR REH KK (1)]

J—r&

BTT B4

FH(X)

2m

K

2~3m
R

3~4m
i

4~5m
i

5~6m
R

6~7m
i

m
Bk

RE

1EER

REE—-TH
EEEB-TH
EEE=TH
EEBMUTHE
EZEBATH
HE—TH
ME=TH
Bai—TH

7

1
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INEF

BR—THE
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BEMETH
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[ [N N R

SBRET
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EmMTH
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LAARE
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BEXE=TH
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MNB=TH
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MOBRET B
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INE
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6. XEm

RE—TH
AREZTH
&FfF—TH
EfM=TH
EINF—TH
TEINF=TH

45

29

79

INE
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29

79
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(ETTEASBARS A REHARK (2)]

J—r&

BT HA

A (X)

2m

R

2~3m
Kk

3~4m
i

4~5m
R

5~6m
K7k

6~7m
i

HE

TRB
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7EEd

AE=TH
EEMNTHE
EAEATH
EEATH

Nt

5F—TH
SF=TH
EEETH
HEE—TH

INEF

9.58 )1l

HBN—TH
BINZ=TH
BAR—THE
HAR=THE
®5—TH
B5=TH
REXE-TH

/NG

10.F3%

FER=TH
FHRMUTH
=/%—TH
=/%_TH
BR=TH

NG
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BR—TH
BRITH
FHR—TH
FHR-TH
AR—TH
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INE
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(BrT BAEARS HRERARE (3)]

A (X)
J—r% BITH%A 2m | 2~3m | 3~4m | 4~Em | 5~6m | 6~Tm | Tm | _po | ag
K | K | Kid | R | KA | KE | Ak =R
tH-THE
+HZTH
IB=TH
+THETE
10 £5 THATH
TBATE
MER
INEE - - - - - - - - -
ErH—TH
- BEH_TH
BREE e im=TH
e - - - - - - - - -
Fr®H—TH
FrH=TH
HEEHETHE
. |Er®mETH
1736 £% = rHATE 1 1 )
+tHETH
TA—TH 1 1
N5 1 2 - - - - - - 3
M2 H—TH
182t [BZH=TH 2 1 3
INE 2 1 - - - - - - 3
o | EBAE 5 14 1 1 21
1o HHAE N 5| 14 i D i =
BERA 123| 118| 28 2 3 2 1 - 277
6.2 LTHIF) A RIRRERX 5 BIRER AREL
[ 3t 51 A3 31 &% A X 43 B 4R R A MR 2K ]
A (E)
THFIARS 2m | 2~3m | 3~4m | 4~5m | 5~6m | 6~7m | 7m B | &
K R R K R R Bt H
it 11 110 26 2 3 2 1 265
BAE 2 4 1 7
BEHNXALHER 4 2 1 7
EAEE 3 3
o 1 1 2
bR 1 1 2
PR ZEHEEY 1 1
R
BERA 123 118 28 2 3 2 1 - 277
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6.3 BTT BAIFTA X B RER ALK
(BT TERFRARSBREHKSE (1)]

BERER
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P4t

BAS

HEXIE

g |REES| Ak

EET

IR R

il
|

1LXER

AREE—TH
ZEB-TH
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(ETT B AR A REHARHK (3)]

ETTHA
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+H-TH
£H-TH
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6.4 ETT BRIMERRERA (D2M%) &
(BT T BARMAREMK (O5HH) #]

8 A %% (B AT)
v BT B4 50m | 50~100nt |100~150n%|150~200nf [200~250rf|250~300m| 300nt ast
Kk e ] K K Kk X Uk Ha

S ALE FEEE=TH 1

1%Ed XEWTH 1

121R 7 BREMTH 1

48 (A —TH 1

SRR A 1 2 i - - - -

6.5 BITEHAMBERDBFRERK (D51 X
[ TEAMFRARSHREHA (D5H) )

A
\}_‘
TR OPTEE s | mae (BEEE sn mane| mm | sum Rmm| A

5P RE FEE=TH 1

7EEl  |REmTE 1

12188 BEMTH 1

14897 |AF—TH 1

AFEAFH i 2 - - - - i -

=== ]=

6.6 HIT BRIRERRERMEK

(BT T B B3R5 R E s M 5]
Bk 44 1zip)
S ETTE% 200mt  |200~400nf | 400~600n7 | 600~800n [800~1000nf| 1000nf At
Xl X it Xt e ES 2 =a
125G Hel—TH 1
3.EA1 BH®_-TH 1
1248F TAZTH 1
14898 |HbzmmETE 1
16 LB |mEH=TH 1
AR AE - 1 1 - ‘ 2

6.7 HIT BRIFTE X2 5l 6RERME

[BTTERMMERD I FEEEAE]
BT (ET)
JovE | WTER O oy | Eas BEXE sy (mens| g | B2m RN an

1LXERE  |[Bsi—T8H 1

3 ERA BHM=TH 1

12485 TAZTH 1

489 F  [BimETE 1

6REH |[REH=TH 1

AR A 4 - - - 1 - - -
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7 BERHAE (KAFEHE108R) OERT —X
7.1 HTBAEREX BRI
[T TEAERESHIRERLK (D]

ATk (&R BE#HI
J—r% HTE% 3-5nt | 5-10nf |10-15nf|15-20nf|20-25nf |25-30nf {30-35nf [35-40nf [40-45nf|45-50m| 50nt e E
K ] K K L K Kt K B R R =A (nf)

EEE-TH 3 4 3 3 1 2 16 567.3
EEE-TH 5 7 4 2 18 163.7
EEE=TH 5 1 1 1 2 1 1 2 14 420.7
EEEmMTH 2 2 4 8 67.8
. REERTH 2 3 1 1 1 8 1915
AR E—TA 4 2 4 1 2 1 1 1 16 2345
ME=TH 2 3 3 2 2 2 14 405.4
HAT—TH 1 3 1 1 6 189.0

Nt 15 24 22 9 10 3 3 3 - 8 100
EEE L ERE () 422|  174.4| 2456| 1545| 2205 80.3 975\ 1155| 1245 - 975.0 2,229.8
BE—TH 3 2 4 1 1 2 4 19 772.0
AE-TH 1 1 3 5 2 1 5 1 1 2 2 24 646.2
pp AE=TH 2 1 2 3 1 4 1 2 1 4 21| 11,0625
SHEMTH 1 1 1 1 1 4 9| 11153

INET 3 5 4 10 10 4 10 4 4 5 14 73
EmERERE() 8.1 375 455 1619 216.0| 1065 316.4| 1445 1640 2365 2,159.1 3,595.9
WA= TH 3 5 1 2 2 1 2 16 332.7
BWAT=TH 4 2 2 1 1 1 2 13 325.7
BaimT e 2 7 7 3 1 1 1 1 23 352.9
=%—T8 2 3 7 5 4 1 1 2 1 1 27 556.7
=%=TH 5 5 4 2 1 17 186.0
3BRT B#—TH 1 6 6 1 3 1 18 314.7
BHM—TH 2 1 1 3 2 1 10 208.0
Ne—THE 3 3 2 4 1 1 1 15 212.8
N&=TH 7 7 2 2 2 20 170.6

Nt 25 41 31 17 13 9 7 4 3 1 8 159
BRI ERE () 83.9| 3005| 3709| 2704| 2745| 2385| 2205 146.0| 1265 485| 579.9 2,660.0
#—-T8H 1 5 3 4 1 3 1 2 20 559.3
£-TH 1 2 5 2 1 2 1 1 2 17 381.0
£#=TH 3 4 6 4 7 2 2 1 4 33 880.6
ENTE 2 4 5 1 2 1 2 2 19 4256
TEE—-TH 1 3 2 4 2 1 1 14 236.4
e TEE-TH 2 3 3 1 4 1 1 1 16 2745
TEE=TH 5 5 4 3 2 1 3 1 2 26 544.5
TEEETH 1 9 4 2 3 1 1 2 23 512.0
Bl —T8 3 5 4 2 3 1 18 244.4
Bl =TH 3 5 2 1 1 12 126.4

Nt 22 45 38 23 20 10 12 2 10 2 14 198
EEE R ERE () 78.4| 3243| 4403| 3840 4455| 261.0| 3730 750 4176 94.0| 1,2915 4,184.5
FEEE—-TH 4 1 1 2 1 1 10 203.2
EEE-TH 5 5 6 5 4 3 1 1 2 32 571.1
FEEE=TH 3 6 6 4 4 3 3 1 1 3 34 960.5
WAR—TH 2 2 2 3 2 11| 25375
SRR [MHNBRZTH 1 3 4 1 1 2 1 4 17 583.5
WHAR=TE 1 2 1 2 1 1 2 1 1 2 3 17 612.9
WHARETE 1 3 1 3 2 2 12 308.0

Nt 10 22 18 16 17 13 8 5 4 3 17 133
EEmEREERE () 35.3| 155.3| 207.5| 269.5| 363.8 346.9] 2520/ 183.0| 168.4| 141.0| 3,654.0 5,776.7
EE-TH 1 2 4 2 3 12 229.3
AE-TH 2 1 5 2 1 1 2 6 20 908.9
EM—TH 2 3 4 3 1 2 15 596.3
X EM=TH 2 7 4 3 1 1 1 4 23 673.3
e ®INF—TH 2 3 2 2 9 197.2
BIF=TH 1 1 1 1 4 50.0

Nt 7 15 14 12 9 6 1 1 4 - 14 83
EmEfEmERE () 19.8| 1158 1600 203.7| 2030 1614 32.0 350 1600 - | 15644 2,655.0

- #hl-49 -




BERER

(BrTEAERES NBERIER (2)]

£ T 4 (B ) BRI
J—r4 EHTHA 3-5nf | 5-10ni [10-15nf|15-20n7[20-25n7|[25-30n7 [30-35n7 [35-40ni [40-45n7 (45-50n7| 50nt e [iE
ki Xl | KW kil Kl | K K Kl Kl | K ki ne (nf)
EZE=TH 1 12 " 2 3 3 3 1 2 38 681.4
AEMTH 2 3 5 6 3 1 3 3 3 29 7423
7iE %%EEETE 6 14 6 5 1 2 1 1 2 3 41 793.5
EEARTH 3 6 5 7 1 1 1 1 1 1 27 476.7
NEE 12 35 27 20 8 ® 9 2 6 2 9 135
EmEFIEE() 41.2 2553 3223 338.9 173.6 135.4 286.7 745 247.0 945 7245 2,693.9
SFE—TH 2 8 6 10 7 2 2 3 1 7 48| 2,449.0
SF_-TH 2 6 " 4 6 2 2 7 40| 1,186.0
P EELTH 1 1 2 13.0
REE—TH 2 2 6 2 4 1 1 3 1 2 24 605.2
NEE 7 17 23 16 17 ® 5 3 4 1 16 114
EmFIEE () 26.5 130.5 275.0 263.2 369.0 129.5 157.5 112.0 170.0 48.0| 25720 4,253.2
FIN—TH 10 8 4 9 4 5 2 1 7 50{ 1,707.5
FIZTH 1 7 9 3 10 4 1 1 4 1 6 47| 1,490.4
BAR—TH 14 8 6 11 4 2 1 1 1 48 887.8
BAR-TH 3 4 4 3 3 1 3 3 5 29 991.5
9.5 ®i5—TH 3 9 14 6 1 2 2 1 1 1 40 665.7
BE_-TH 1 1 1 1 4 72.0
BEE_-TH 3 4 11 7 2 1 3 1 1 2 35 660.3
INEE 7 48 89 30 37 18 13 9 9 ® 22 253
EEmx{bmE(n) 24.3 355.4 669.0 497.5 827.5 483.0 404.0 326.5 378.2 234.0] 22758 6,475.2
FER=TE 4 12 12 4 3 4 1 1 3 44 781.3
FRETH 2 13 8 2 2 1 1 1 1 5 36 809.3
=/®—TH 1 10 7 2 6 2 1 2 31 535.8
10.F3 =/®=-TH 5 2 2 2 2 1 3 17 2495
BR=TH 10 4 6 3 2 1 3 1 2 1 33 678.2
NEE 12 47 33 16 16 10 7 5 1 3 11 161
EEm R bm () 39.5 332.6 386.2 263.5 357.5 271.0 220.0 183.0 42.0 141.0 817.8 3,054.1
BR—TH 6 12 10 9 3 4 1 1 1 1 48 771.7
ER-TH 1 3 1 1 1 1 1 9 188.3
FR-—TH 2 " 4 5 2 2 2 28 501.3
Hes FERZ-TH 4 5 1 4 4 1 2 1 22 404.0
AB—TH 5 11 4 1 1 1 1 2 2 28 5325
ABRZTH 2 15 8 8 3 4 2 1 43 677.3
NG 20 57 28 28 10 13 8 1 3 2 8 178
B EFIERE () 74.3 421.6 326.2 460.0 221.0 348.0 251.0 36.0 123.0 93.0 721.0 3,075.1
RE—TH 1 2 1 1 2 1 1 1 2 12 623.5
REZTH 5 9 5 4 4 3 2 2 1 4 39( 11,0683
RE=TH 3 13 9 13 8 6 3 2 4 1 4 66( 14715
REOTH 2 4 3 2 2 1 2 15 31 24611
12182 RERTH 2 1 1 1 2 1 2 2 1 8 21f 3,136.3
TARZTH 5 6 5 3 1 1 1 4 26 5725
TR=TH 1 3 5 6 3 2 1 3 24 794.2
INER 15 37 30 28 21 15 8 9 10 6 40 219
EEm{bmE(n) 59.7 261.1 361.5 474.3 462.5 400.5 249.0 321.0 418.5 279.0] 6,829.2 10,116.3
#/HtTH 7 5 4 5 4 3 1 1 1 1 2 34 736.8
EBHA-TH 3 8 13 7 5 5 4 1 3 49 926.8
13APR | LBHHAZTH 4 8 14 7 6 4 1 2 2 48 844.9
INEF 14 21 31 19 15 12 6 3 2 1 7 131
EmFmEE(n) 42.8 1560.5 369.4 322.5 3245 326.5 185.5 111.0 83.8 48.0 544.0 2,508.4
AH—TH 1 1 1 1 1 5 10 862.5
AHZTH 8 1 2 5 5 1 2 5 1 13 43| 2,387.3
B/H=TH 5 3 6 7 2 5 1 6 35( 1,611.6
AHETH 2 3 1 5 1 1 3 16 493.5
14T B/HAETH 6 14 1 6 2 1 4 34 662.3
AHATH 3 9 2 3 1 2 1 21 276.1
MmZIm=TH 6 2 3 1 1 1 1 1 16 3785
Mz T H 1 15 7 3 4 1 4 1 2 1 1 40 697.0
NEE 13 61 18 28 20 11 13 5 9 4 33 215
B EE(m) 45.8 424.6 204.3 456.5 448.0 2945 415.0 186.0 375.3 188.0] 4,330.7 7,368.7

- BEEE-50 -




(BTTEAERES A EEmRIEHK (3)]

BERER

i B3k (& A BEE R
- BrTH% 3-5ni | 5-10mf |10-15mi|15-20ni|20-25nf|25-30m [30-35ni|35-40ni |40-45mi |45-50ni| 50ni o [k
S bS] B3 bS] b B S bS] B3] ] =s (nf)
tH—TH 2 3 1 1 3 1 1 2 14| 6425
tH=-TH 3 3 1 1 8 135.0
tH=TH 2 2 1 2 1 3875
tEHmMTA - -
15. L% tHAETH 1 1 3 1 6 92.2
EBHATH 1 2 1 4 439
ER 1 1 24.0
INEE 3 11 9 8 4 1 1 1 1 - 5 44
EERLEE() 12.2 72.0 99.4| 1365 93.0 25.0 30.0 39.0 40.0 = 778.0 1,325.1
®tH-—TH 6 5 4 3 1 19| 3105
EEH-TH 4 2 1 1 1 1 4 14|  557.3
168 LH |HEH=TH 2 4 4 6 3 1 1 1 2 24| 5242
INEE 2 14 11 1 1 - 6 2 2 1 7 57
EERLEE() 6.0 99.6| 1355 183.0 20.0 - 190.5 75.0 83.0 470 5524 1,392.0
ttrH—TH 4 2 2 1 1 10 169.0
FEH=TH 2 6 8 3 3 1 1 1 25 3834
REHmTAH 1 4 3 3 5 3 7 26| 1,977.2
EEBRATH 1 1 3 1 6| 2719
17468 |HEHATH 3 16 10 4 6 1 2 1 1 1 45| 6804
tHETH 1 2 1 1 2 1 8 153.8
TA—TH 3 5 5 1 2 1 3 20 7025
INEE 10 37 28 14 16 7 6 2 4 2 14 140
EERLEE() 37.3| 2520 3275 239.8| 3506 191.8] 186.0 710 1664 93.0| 24228 4,338.1
tzim—TH 1 2 1 1 1 1 1 8|  237.0
e [MZEZ=TE 1 2 2 2 2 1 1 2 1 14| 300.3
181025 INET 1 3 4 2 3 1 1 3 1 1 2 22
EBEERCEE() 3.0 235 455 348 66.0 25.0 31.0 108.0 40.0 465 1140 537.3
EBAE 1 3 4| 1,600.0
19 EBHAR Nt - 1 - - - - - - - 3 4
EERLEE(n) - 5.0 - - - - - - - -| 15950 1,600.0
BEXAS 198 541 424 307 247 143 124 64 80 39 252 2,419|
EERLEEA (M) 680.1| 3,.891.4| 4,991.4| 51144| 54365 3.824.8| 3897.6| 23420| 33281| 18320345008 69,838.9

X1 BWTT H ORI,

ZEEILEELLT L —H LA,
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BERER

7.2 HT BRI BB EEE R

[ETTHR A AR REmEIEE (1))
¥ (AT BEmixit
LY SRS 3 A

oA BTEE e e B |wam| BE | w1 | 25 | 2 | am |zon| an i
EEE—TH 2 10 2 6] 5673
EEE=TH 9 4 3 1 1 18] 1537
BEE=TH 1 5 6 1 1 14| 4207
SEENTE 2 1 4 1 s| 678
e |EEEETE 1 3 3 1 s| 1915
R R 2 12 2 16| 2345
WE=TE 2 5 7 14| 4054
R—T B 2 2 1 1 6| 1890

INEF 19 1 25| 28 1 3 3 . T 100
EERILERM)| 1849] 86| 12260 5419 60| 1305 1320 . . 22298
aE—TH 3 10 2 i i 19 7720
LE-TH 7 12 5 24| 6462
) s AE=TH 3 6| 11 1 21| 10625
AEMTE 5 2 1 1 o| 11153

INEF 13 . B 2 1 3 i . 73
EERLERM)| 2915 — [ 14756] 10908] 60 — 1680 5640 . 3595.9
BE—TH 2 1 3 6 2 6] 3327
A= TH 4 4 5 13| 3257
AR T B 8 5 8 1 1 23| 3529
=%-TH 8 6| 13 27| 5567
=%-TH 7 3 7 17| 1860
3 BEHT B—TH 10 3 5 18] 3147
BH-TH 4 4 2 10 2080
Ne—TH 3 12 15 2128
NB=TH 8 4 7 1 20 1706

INEF 54 1 32 65 . 8 i . T 7159
EERLERT)| 697.3] 290| 619.7] 10856 “ 1s59| 425 . . 2660.0
T8 2 4 8 3 i 20 559.3
£-TH 7 1 4 4 1 17| 3810
£=TH 9 7l 17 33| 8806
EmTH 9 5 4 1 19| 4256
TEE—TE 5 5 4 14| 2364
i ERECTH 5 6 2 3 16| 2745
ERE=TH 5 1l 12 2 26| 5445
EEEMTE 4 7l 10 2 23 5120
Bl —TH 2 1 8 7 18| 2444
B —TH 1 3 8 12| 1264

INEF 50 3| 56| 78] 11 2 . . T 198
EERLERT)| 8306 445| 973.8| 1961.7| 3085 655 . . . 41845
mEE-TH 1 1 6 i i 0] 2032
mEE=TH 8 12 7 5| 32| 5714
mEE=TH 1 1 8 5 2 2 5| 34| 9605
WAB—TH 2 2 2 3 1 1 11| 25375
BEEE AT TE 9 3 4 : 17| 5835
WAR=TH 6 5 5 : 17| 6129
AT H 7 1 4 12| 3080

INEF 24 1 82 27| 13 3 i i T 133
EERLER)| 10150] 2900| 5323| 8567 419.7] 29.0| 298.0| 20800| 2560 57767
2E-TH 2 7 2 i 12 2293
sE—TH 6 1 6 5 : 1l 20| 9089
EM—TH 5 3 6 1 15| 5963
o EM=TH 4 1 T 6 1 23| 6733
6ERE  |E—TH 2 3 1 1 2 of 1972
ENE=TH 1 1 2 1 4l 500

N 18 5| 31| 2 2 2 i 2 1 83
EERLERT)| 3358 2800 1081.2] 397.6] 1700] 825 700] 879] 1500 2655.0

- K52 -




(BT TEA LA ARIEE&ZLESE (2)]
15 AT 3 (& P) BEm&it

AP~ N A \

IR TTRER gas| BE sem| B2 | sx | A% | wm | 0@ |zow| a# S
EE=TH 17 12 9 38| 6814
AREMTH 14 7 5 3 29| 7423

. EERTH 28 7 5 1 41| 7935

TR REARTH 8 5 14 27| 4767

INEE 67 = 31 33 = 4 = = = 135
B ERE()| 1174.1 - | 6731] 6854 -| 1613 = = = 2693.9
4F—TH 19 12 7 1 1 5 3 48] 24490
SEZTH 26 4 6 1 2 1 40| 11860

gam ARELTH 1 1 2 13.0

TP e
FRE-—TH 9 7 7 1 24|  605.2

INEE 55 = 24 20 3 3 6 3 = 114
BEEIEEE()|  997.0 - | 4222] 6120 5320 104.0] 1467.0] 119.0 = 4253.2
#FN—TH 27 2 15 2 2 1 1 50 1707.5
EN=TH 15 16 11 3 1 1 47| 14904
BALR—TH 18 16 8 6 48| 8878
BAR-TH 11 4 2 11 1 29| 9915

935l BE—TH 31 4 2 1 1 1 40| 6657
BE=-TH 3 1 4 720
EEE-TH 22 8 3 1 1 35| 6603

INEE 127 38 48 28 5 3 1 = 3| 253
BEmEGcEE(m)| 2869.4] 8380 9205 9383] 1150 77.0] 3000 - 4080 6475.2
FHR=TH 30 1 2 10 1 44] 7813
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